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Problème de la semaine

Problème C

Un problème de bulletin

Le bulletin de Mildred contient les notes de sept cours. La moyenne de ces sept

notes est de 77%.

En examinant de près son bulletin, Mildred remarque que sa note du cours

d'anglais est erronée. La note inscrite au bulletin est 18% tandis que sa note

réelle est 81%.

Détermine la vraie moyenne des notes de Mildred.

Thème Sens du nombre



Problem of the Week
Problem C and Solution
A Reporting Problem

Problem
Mildred has seven grades on her report card. The overall average of these seven grades is 77%.
After looking more closely at her report card, Mildred discovered that her English grade was
incorrectly recorded as 18% instead of her actual grade of 81%. Determine Mildred’s correct
report card average.

Solution
Solution 1

This first solution works primarily with the definition of an average.

To calculate an average we add the seven grades and divide by 7.

sum of seven grades
7

= 77

To then obtain the sum of the seven grades we would multiply the average by 7.

sum of seven grades = 7× 77 = 539

But this sum includes the wrong English grade of 18%. So we need to adjust the sum by
subtracting the wrong grade and adding the corrected grade.

correct sum of seven grades = 539− 18 + 81 = 602

We can now obtain Mildred’s corrected average by dividing the corrected sum by 7.

correct average =
correct sum of seven grades

7
=

602

7
= 86

∴ Mildred’s corrected report card average is 86%.

Solution 2

The second solution looks at how an increase in a grade will affect an overall average.
For an average based on seven grades, an increase of 1% for one grade will cause the overall
average to increase by 1

7
of 1%. So, for each increase of 7%, the overall average will increase by

1%. That is, Mildred’s mark will increase by 1% for every 7% her English grade increases by.

Mildred’s English grade increases by 81%− 18% = 63%. Since 63÷ 7 = 9, her average will
increase by 9% to 86%.

∴ Mildred’s corrected report card average is 86%.
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Problème de la semaine

Problème C

Tout s'additionne

La somme des chi�res d'un nombre entier positif est déterminée en additionnant

tous les chi�res du nombre.

Par exemple, la somme des chi�res de 1234 est 10 puisque 1 + 2 + 3 + 4 = 10.

Détermine tous les nombres entiers positifs à cinq chi�res dont la somme des

chi�res est exactement 3.

Thème Sens du nombre



Problem of the Week

Problem C and Solution

It All Adds Up

Problem

The digit sum of a positive integer is the sum of all of its digits. For example, the digit sum of

the integer 1234 is 10 since 1 + 2 + 3 + 4 = 10.
Find all �ve-digit positive integers whose digit sum is exactly 3.

Solution

We will �nd the three groups of �ve digits that add to 3. We will then rearrange

these digits to determine all �ve-digit positive integers whose digits sum to 3.

Note that the �rst digit cannot be 0, because then otherwise the integer would

not be a �ve-digit integer. The information is summarized in the following table.

The �ve digits The possible �ve-digit integers Number of possibilities

3, 0, 0, 0, 0 30 000 1

1, 2, 0, 0, 0 12 000, 21 000
10 200, 20 100
10 020, 20 010 8

10 002, 20 001

1, 1, 1, 0, 0 11 100, 10 110
11 010, 10 101 6

11 001, 10 011

Therefore, the number of �ve-digit positive integers that have a digit sum of 3 is

1 + 8 + 6 = 15.

Note: It is a known fact that an integer is divisible by 3 exactly when its digit

sum is divisible by 3. For example, 32 814 has a digit sum of

3 + 2 + 8 + 1 + 4 = 18. Since 18 is divisible by 3, then 32 814 is divisible by 3.

On the other hand, 32 810 has a digit sum of 3 + 2 + 8 + 1 + 0 = 14. Since 14 is

not divisible by 3, then 32 810 is not divisible by 3.

As a consequence of this fact, each of the 15 �ve-digit integers we found above

must be divisible by 3.
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Problème de la semaine

Problème C

Votez!

Seulement deux candidats se sont présentés pour l'élection d'un représentant

pour le conseil d'élèves.

Paul Premier a obtenu 60% des votes et Saheel Seconde a obtenu le reste des

votes. Si Paul a remporté l'élection par 28 votes, combien de personnes ont voté

en tout?

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Vote!

Problem

In an election for a grade representative on the school council, there were only two candidates.

Freda First received 60% of the total votes and Saheel Second received all the rest. If Freda

won by 28 votes, how many people voted?

Solution

If Freda received 60% of the votes, then Saheel received 40% of the total number

of votes. The di�erence between them, 20%, represents 28 votes.

We are interested in determining 100% of the votes, that is, the total number of

votes cast. Since we know that 20% of the total votes cast was 28 votes and

5× 20 = 100, then the total number of votes cast was 5× 28 or 140 votes.

Solution 2

The second solution uses an algebraic approach.

Let n represent the total number of votes cast.

Since Freda received 60% of the total votes, she received 0.6× n or 0.6n votes.

Since Saheel received all of the remaining votes, he received 0.4× n or 0.4n votes.

We know that the di�erence between the number of votes received by Freda and

the number of votes received by Saheel was 28. So,

0.6n− 0.4n = 28

0.2n = 28
0.2n

0.2
=

28

0.2
n = 140

Therefore, there were 140 votes cast.
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Problème de la semaine

Problème C

Appuie donc!

Lors d'un jeu télévisé, les concurrents tentent de gagner un prix extraordinaire. Le jeu est intitulé

�Appuie donc!�. Le jeu commence avec un grand clavier numérique où apparaissent les dix premiers

chi�res d'un numéro de série à 12 chi�res d'une télévision de 85 pouces. Les dix premiers chi�res du

numéro de série apparaissent en haut du clavier numérique. Les concurrents doivent déterminer les

deux derniers chi�res du numéro de série.

L'information suivante est donnée aux concurrents:

• Aucuns nombres adjacents ne sont identiques.

• Dans le numéro de série, les nombres adjacents se touchent aussi sur le clavier. Par exemple, le

nombre 1 touche les nombres 2, 4 et 5. Le nombre 5 touche tous les nombres sauf 0.

• Les trois derniers chi�res du numéro de série forment un nombre à trois chi�res qui n'est pas

divisible par 2, ni 3, ni 5.

Lorsqu'un concurrent est prêt, il devra taper les deux chi�res sur le clavier, suivi par le #. S'il a

raison, il gagnera la télévision. Sinon, il ne gagne rien. Le concurrent n'a qu'une chance pour deviner

les deux derniers chi�res du numéro de série.

Si le concurrent utilise correctement l'information, combien de di�érentes combinaisons de deux

chi�res sont possibles?

159 080 741 4

1 2 3

4 5 6

7 8 9

* 0 #

C'est utile de noter qu'un nombre est divisible par trois seulement si la somme de ses chi�res est

divisible par 3.

Thème Sens du nombre



Problem of the Week

Problem C and Solution

Press On

Problem

On a game show, contestants are selected to participate in a game in an attempt to win a fabulous

prize. One particular game is called �Press On�. The game involves a large number pad and the �rst

ten digits of the 12-digit serial number of an 85 inch television. The �rst ten digits of the serial

number are displayed at the top of the number pad. Contestants must guess the last two digits of the

serial number.

The contestant is provided with the following information about the

serial number: no two adjacent digits in the serial number are the same;

on the keypad, each digit in serial number somehow touches the next

digit in the serial number; and the �nal three digits in the serial

number form a three-digit number that is not divisible by 2, 3 or 5.

When the contestant is ready, they would press their two numbers on

the number pad followed by the # key. If the contestant is correct, they

would win the television. If they are incorrect, they leave the show with

nothing. The contestant has only one chance to select the �nal two

digits of the winning serial number. If the contestant uses the given

information correctly, how many possible 2-digit choices are there for

ending the serial number?

159 080 741 4

1 2 3

4 5 6

7 8 9

* 0 #

Solution

There are �ve numbers that touch the 4 on the key pad. Therefore, 1, 2, 5, 7, and 8 are the

only possibilities for the �rst missing digit. We will examine each of the possibilities.

1. First Missing Digit is 1

The diagram to the left shows every possibility for the �nal digit.

Since the serial number is not divisible by 2, we can eliminate

any of the possibilities with an even �nal digit. That is, we can

eliminate 2 and 4. Since the serial number is not divisible by

5, we can also eliminate 5 as a possible �nal digit. Since we

have eliminated all possible choices for a �nal digit when the �rst

missing digit is 1, no serial number exists whose �rst missing digit is 1.

2. First Missing Digit is 7

The diagram to the left shows every possibility for the �nal digit.

Since the serial number is not divisible by 2, we can eliminate

any of the possibilities with an even �nal digit. That is, we can

eliminate 4, 8 and 0. Since the serial number is not divisible

by 5, we can also eliminate 5 as a possible �nal digit. Since we

have eliminated all possible choices for a �nal digit when the �rst

missing digit is 7, no serial number exists whose �rst missing digit is 7.



3. First Missing Digit is 2

The diagram to the left shows every possibility for the �nal digit.

Since the serial number is not divisible by 2, we can eliminate any of

the possibilities with an even �nal digit. That is, we can eliminate

4 and 6. Since the serial number is not divisible by 5, we can also

eliminate 5 as a possible �nal digit. The remaining possible last

three digits are 421 and 423. The sum of the digits of 421 is 7. Since

7 is not divisible by 3, then 421 is not divisible by 3. Therefore, 21 is

a valid possibility for the �nal two digits of the serial number. The

sum of the digits of 423 is 9. Since 9 is divisible by 3, then 423 is

divisible by 3. Therefore, 23 is not a valid possibility for the �nal

two digits of the serial number.

4. First Missing Digit is 5

The diagram to the left shows every possibility for the �nal digit.

Since the serial number is not divisible by 2, we can eliminate any of

the possibilities with an even �nal digit. That is, we can eliminate

2, 4, 6, and 8. The remaining possible last three digits are 451, 453,

457 and 459. The sum of the digits of 451 and 457 are 10 and 16,

respectively. Since neither 10 nor 16 are divisible by 3, then both 451

and 457 are not divisible by 3. Therefore, both 51 and 57 are valid

possibilities for the �nal two digits of the serial number. The sum of

the digits of 453 and 459 are 12 and 18, respectively. Since both 12

and 18 are divisible by 3, then both 453 and 459 are divisible by 3.

Therefore, 53 or 59 are not valid possibilities for the �nal two digits

of the serial number.

5. First Missing Digit is 8

The diagram to the left shows every possibility for the �nal digit.

Since the serial number is not divisible by 2, we can eliminate any of

the possibilities with an even �nal digit. That is, we can eliminate

4, 6, and 0. Since the serial number is not divisible by 5, we can

also eliminate 5 as a possible �nal digit. The remaining possible last

three digits are 487 and 489. The sum of the digits of 487 is 19.

Since 19 is not divisible by 3, then 487 is not divisible by 3 and 87 is

a valid possibility for the �nal two digits of the serial number. The

sum of the digits of 489 is 21. Since 21 is divisible by 3, then 489 is

divisible by 3 and 89 is not a valid possibility for the �nal two digits

of the serial number.

We have examined all of the possibilities for the �nal two digits of the serial number that

satisfy the given information. There are four valid possibilities for the �nal two digits, namely

21, 51, 57, and 87. Therefore, the contestant has a probability of 1
4
of selecting the correct �nal

two digits of the serial number. In other words, there is a 25% chance of winning this game.
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Problème de la semaine
Problème C

Un prix innovateur

Trois collègues, Amélie, David et Ryan ont reçu un prix d’excellence pour leur
travail dans le domaine de la technologie des piles électriques. Ils ont décidé de
partager le prix comme suit:

(i) Amélie recevra 10 000$ plus 1
5 de la somme qui reste (après le 10 000$);

(ii) David recevra ensuite 16 000$ plus 1
4 de ce qui reste maintenant;

(iii) Finalement, Ryan recevra le montant d’argent qui reste, soit 18 000$.

Quelle était la valeur monétaire totale du prix? Quel collègue recevra le plus
d’argent?

Thème Sens du nombre



Problem of the Week

Problem C and Solution

Award for Innovation

Problem

Three co-workers, Arden, Dale and Ryan, received an innovation award for their ground

breaking work on battery technology. They have decided to split the award as follows: Arden

receives $10 000 plus 1
5
of what then remains; Dale then receives $16 000 plus 1

4
of what then

remains; and Ryan then receives the rest, which is $18 000. How much is the original monetary

award? Which co-worker receives the most money?

Solution

We will start from Ryan and work towards Arden.

Dale receives 1
4
of the remainder, so what is left for Ryan is 3

4
of the remainder.

It follows that $18 000 is 3
4
of the remainder.

If 3
4
of the remainder is $18 000, then 1

4
of the remainder is $18 000÷ 3 = $6000.

So just after Dale receives $16 000, there is $6000 + $18 000 or $24 000 left.

Therefore, before Dale gets any money there is $24 000 + $16 000 or $40 000.
Dale receives $16 000 + $6000 = $22 000.

Arden receives 1
5
of the remainder, so what is left for Dale is 4

5
of the remainder.

It follows that $40 000 is 4
5
of the remainder.

If 4
5
of the remainder is $40 000, then 1

5
of the remainder is $40 000÷ 4 = $10 000.

So just after Arden receives $10 000, there is $10 000 + $40 000 or $50 000 left.

Therefore, before Arden gets any money there is $50 000 + $10 000 or $60 000.
Arden receives $10 000 + $10 000 = $20 000.

Arden receives $20 000, Dale receives $22 000, and Ryan receives $18 000.

Therefore, the original monetary award was $60 000 and Dale receives the largest share.

We can check our result by working through the given information one step at a time.

→ $60 000− $10 000 = $50 000 left after Arden's initial amount.

→ $50 000− 1
5 × $50 000 = $50 000− $10 000 = $40 000 remaining after Arden's full share.

→ $40 000− $16 000 = $24 000 after Dale's initial amount.

→ $24 000− 1
4 × $24 000 = $24 000− $6000 = $18 000 remaining after Arden and Dale's shares.

→ $18 000 is Ryan's share.
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Problème de la semaine

Problème C

Pensons aux produits

Trois cartes sont placées une à côté de l'autre sur une table. D'un côté de chaque
carte il y a une lettre, soit un R, un V ou un B, et de l'autre côté, un nombre
positif. Les nombres sur les cartes sont cachés. Voici ce que l'on sait déjà au sujet
des nombres cachés:

(i) le produit du nombre sur la carte R et du nombre sur la carte V est égal au
nombre sur la carte B;

(ii) le produit du nombre sur la carte V et du nombre sur la carte B est 180; et

(iii) cinq fois le nombre sur la carte B est égal au nombre sur la carte V.

Détermine le produit des nombres sur les trois cartes.

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Thinking About Products

Problem

Three cards are lined up on a table. Each card has a letter printed on one side and a positive number

printed on the other side. One card has an R printed on it, one card has a G printed on it, and one

card has a B printed on it. The number side of each card is facedown on the table. The product of the

number on the card with an R and the number on the card with a G equals the number on the card

with a B. The product of the number on the card with a G and the number on the card with a B is

180. And, �ve times the number on the card with a B equals the number on the card with a G.

Determine the product of the numbers on the three cards.

Solution

Solution 1

Let the three numbers be represented by r, g, and b.

Since the product of the number on the card with an R and the number on the card with a G

equals the number on the card with a B, r × g = b. We are looking for

r × g × b = (r × g)× b = (b)× b = b2. So when we �nd b2 we have found the required product

r × g × b.

We are also given that that g × b = 180 and g = 5× b, so g × b = 180 becomes

(5× b)× b = 180 or 5× b2 = 180. Dividing by 5, we obtain b2 = 36. This is exactly what we

are looking for since r × g × b = b2. Therefore, the product of the three numbers is 36.

For those who need to know what the actual numbers are, we can proceed and �nd the three

numbers. We know b2 = 36, so b = 6 since b is a positive number. Therefore,

g = 5× b = 5× 6 = 30. And �nally, r × g = b so r × (30) = 6. Dividing by 30, we get

r = 6
30

= 1
5
. We can verify the product r × g × b = (1

5
)× (30)× (6) = 6× 6 = 36.

Solution 2

In this solution we will try to �nd the numbers by working with the factors of 180.

The product of the number on the card with a G and the number on the card with a B is 180

and the number on the card with a G is �ve times the number on the card with a B. The

number 180 can be written as 2× 2× 3× 3× 5. By playing with the factors, we can get the

number on the card with a G is 5× 2× 3 and the number on the card with a B is 2× 3. That is,
the number on the card with a G could be 30 and the number on the card with a B could be 6.

Now using the fact that the number on the card with an R times the number on the card with

a G is equal to the number on the card with a B, we see that some number times 30 equals 6

and it follows that the number on the card with an R would be 6÷ 30 = 1
5
.

The product of the three numbers is 1
5
× 30× 6 = 6× 6 = 36.

This solution only works because the number on the card with a G and the number on the

card with a B happen to be integers.
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Problème de la semaine

Problème C

Occasion manquée

Une classe de 30 élèves est allée à un centre de la nature pour une sortie

éducative. Au courant de la journée, deux ateliers étaient o�erts: �Connaître les

oiseaux� et �Les animaux qui nous entourent�. Douze élèves ont participé à

l'atelier sur les oiseaux. Dix-sept élèves ont participé à l'atelier �Les animaux qui

nous entourent�. Cinq élèves ont participés aux deux ateliers. Certains n'ont

participé à aucun atelier.

Combien d'élèves n'ont pas eu la chance d'assister à un atelier?

Thèmes Gestion des données, Sens du nombre



Problem of the Week

Problem C and Solution

Missed Out

Problem

A class of 30 students went on a �eld trip to a nature centre. Throughout the day, two

di�erent workshops were o�ered: �Know Your Birds� and �Animals Around Us�. Twelve of the

students attended the workshop about birds. Seventeen of the students attended the �Animals

Around Us� workshop. Five students attended both workshops. Some students did not attend

any of the workshops. How many students missed out by not attending any workshop during

the �eld trip?

Solution

Since 5 students attended both workshops and these students are included in the

12 who attended the �Know Your Birds� workshop, then 12− 5 or 7 students

attended only the �Know Your Birds� workshop. They did not attend the

�Animals Around Us� ' workshop.

Again, since 5 students attended both workshops and these students are included

in the 17 who attended the �Animals Around Us� workshop, then 17− 5 or 12
students attended only the �Animals Around Us� workshop. They did not attend

the �Know Your Birds� workshop as well.

Students will be in exactly one of four possible groups: they attended both

workshops, they attended the �Know Your Birds� workshop only, they attended

the �Animals Around Us� workshop only, or they did not attend either workshop.

The number of students in each possible group added together will sum to the

total number of students in the class. Or we could subtract the known sizes of

the groups from the total class size to determine the number of students who did

not attend either workshop.

So, the number of students who did not attend either workshop is equal to the

number of students in the class minus the number of students who attended both

workshops minus the number of students attended only the �Know Your Birds�

workshop minus the number of students who attended only the �Animals Around

Us� workshop. Therefore, the number of students who did not attend either

workshop is equal to 30− 5− 7− 12 = 6.

Therefore, 6 students missed out on the opportunity to learn from the workshop

leaders.
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Problème de la semaine
Problème C

Complet à 15

Le jeu “Complet à 15” se joue à deux joueurs. Le plateau de jeu consiste en 9
cercles, démontrés ci-dessous.

Les joueurs jouent à tour de rôle en plaçant des disques numérotés de 1 à 9 dans
les cercles. Chaque nombre ne peut être utilisé qu’une seule fois. L’objectif du jeu
est d’être le premier joueur à placer un disque qui fait que la somme des trois
disques sur une ligne passant par le centre soit exactement 15.

Alexandra et Blake jouent le jeu. Alexandra prend le premier tour. Elle place un
6 dans le centre. Ceci est démontré dans le diagramme ci-dessous.

Ensuite Blake place un des 8 nombres restants dans un des cercles vides.

Prouve que peu importe le cercle dans lequel Blake a placé son disque, Alexandra
peut gagner le jeu lors de son prochain tour.

Thèmes Pensée computationnelle, Sens du nombre



Problem of the Week

Problem C and Solution

Fill to 15

Problem

The game, �Fill to 15�, is a two-player game. The game board consists of 9 circles as shown in the

diagram above. The players alternate turns placing discs numbered 1 to 9 in the circles on the board.

Each number can only be used once in any game. The object of the game is to be the �rst player to

place a disc so that the sum of the 3 numbers along a line through the centre circle is exactly 15. Alex

and Blake play the game. Alex goes �rst. On her �rst move, Alex places a 6 in the centre circle. Then

Blake places one of the eight remaining numbers in one of the empty circles on her �rst turn. Show

that no matter which numbers Blake plays, Alex can win the game on either her second or third turn.

Solution

Since Alex played a 6 on her �rst turn, the other two discs in the line would need to add to 9
to make the total 15.

If, on her �rst turn, Blake plays one of the numbers 1, 2, 4, 5, 7 or 8, then
there is an unused number that Alex can play on her second turn so that
the sum of the line is 15. That is, if Blake plays a 1, then Alex will play an
8. (This is illustrated on the diagram to the right.) If Blake plays a 2, then
Alex will play a 7. If Blake plays a 4, then Alex will play a 5. If Blake plays
a 5, then Alex will play a 4. If Blake plays a 7, then Alex will play a 2. And
if Blake plays an 8, then Alex will play a 1. In each of these 6 instances Alex
can win on her second turn.

If, on her �rst turn, Blake places a 3 in any empty space, then the sum of
the two discs in that line will be 9. Alex cannot win on her second turn
since the only way to make the sum in that line 15 would be for her to play
another 6. No number may be used more than once so this is not possible.
However, if Alex completes the line by playing a 9 on her second turn, then
the remaining discs will have numbers 1, 2, 4, 5, 7 and 8. Then, as we
saw above, no matter what Blake plays on her second turn, there will be a
number that Alex can place on that line so that the three numbers in the
line add to 15. An example is illustrated in the diagram to the right.

Finally, if on her �rst turn, Blake places a 9 in any empty space, then the
sum of the two discs on the line will already be 15 using just 2 discs. Alex
cannot win on her second turn since playing any other disc in that line
would make the sum greater than 15. However, if Alex completes the line by
playing a 3 on her second turn, then the remaining discs will have numbers
1, 2, 4, 5, 7 and 8. Then, as we saw above, no matter what Blake plays next,
there will be a number that Alex can place on that line so that the three
numbers in the line add to 15. An example is illustrated in the diagram to
the right.

Therefore, we have shown that no matter which numbers Blake plays, Alex can win the game
on either her second or third turn.



CEMC.UWATERLOO.CA   |   le CENTRE d’ÉDUCATION en MATHÉMATIQUES et en INFORMATIQUE

Problème de la semaine

Problème C

Emplacement, emplacement, emplacement

En commençant avec le numéro 2, nous allons placer les nombres entiers dans le
tableau suivant comme suit.

U V W X Y

Rangée 1 2 3 4

Rangée 2 7 6 5

Rangée 3 8 9 10

Rangée 4 13 12 11

Rangée 5 14 15 16

Rangée 6 19 18 17

La régularité continue. Chaque nouvelle rangée contient les trois prochains
nombres entiers, dans le sens opposé de ceux de la rangée précédente, et avec le
plus petit des trois entiers dans la colonne W .

Détermine la position exacte du nombre entier 2020. Indique le numéro de la
rangée et la lettre de la colonne. (U, V,W,X, Y ).

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Location, Location, Location

Problem

Starting with 2, we will place the integers as shown in the following chart.

U V W X Y
Row 1 2 3 4

Row 2 7 6 5

Row 3 8 9 10

Row 4 13 12 11

Row 5 14 15 16

Row 6 19 18 17

The pattern continues. Each new row lists the next three integers, in the direction opposite to
the row above, and with the smallest of the three integers in column W .

Determine the exact location of the integer 2020. State the row number and the column letter
(U, V,W,X, Y ).

Solution

Observe some of the patterns in the chart. (There are many more patterns than
the ones listed below.)

Each row contains a multiple of three in either column V or column X. Even
multiples of three are in column V and odd multiples of three are in column X.
To determine the row number, take the multiple of three and divide it by 3.

The outer numbers in column U or column Y have a remainder 1 when divided
by 3. Numbers that are even and have a remainder 1 when divided by 3 are in
column Y . Numbers that are odd and have a remainder 1 when divided by 3 are
in column U . If the largest number in a row is even, it is in column Y . If the
largest number in a row is odd, it is in column U .

Every number in column W has a remainder 2 when divided by 3.

When 2020 is divided by 3, there is a quotient of 673 and a remainder 1. So 2020
is in column U or Y but since 2020 is even, it is in column Y . The 673rd multiple
of 3, which is 2019, is in row 673, in column X, to the left of 2020. In fact, row
673 will contain 2018 in column W ; 2019, the 673rd multiple of 3, in column X;
and 2020 in column Y . Therefore, the number 2020 is located in row 673, column
Y .
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Problème de la semaine

Problème C

Pour créer des nombres, tu dois tout tourner

Un élève possède cinq disques identiques. Une des faces de chaque disque est

blanche avec un numéro 3 en noir tandis que l'autre face est noire avec un

numéro 6 en blanc.

Chaque disque est placé sur un cercle vide pour créer un nombre à cinq chi�res.

Combien de nombres à cinq chi�res di�érents et qui sont divisibles par 9 peuvent

être créer de cette manière?

Savais-tu que?

Si la somme des chi�res d'un nombre est divisible par 9, alors le nombre est

divisible par 9. Si la somme des chi�res d'un nombre n'est pas divisible par 9,

alors le nombre n'est pas divisible par 9.

Par exemple, le nombre à cinq chi�res 10 278 est divisible par 9 puisque la somme

de ces chi�res 1 + 0 + 2 + 7 + 8 = 18, qui est divisible par 9. Cependant, puisque

la somme des chi�res de 12 345 est 15 et que 15 n'est pas divisible par 9, alors le

nombre 12 345 n'est pas divisible par 9.

Thème Sens du nombre



Problem of the Week

Problem C and Solution

To Create Numbers You Will Flip Over

Problem

A student has �ve identical disks. One side of each disk is white with a black number 3

stamped on it, and the other side of each disk is black with a white number 6 stamped on it.

Each of the �ve disks is placed on a di�erent empty circle creating a �ve-digit number. How

many di�erent �ve-digit numbers can be formed such that the �ve-digit number is divisible by

9?

Solution

Solution 1

It is possible that some solvers listed every possible number and then tested to

see which ones were divisible by 9. It turns out that there are only 32 possible

numbers. After determining the digit sums, you would discover that 10 of the

numbers are divisible by 9. No attempt will be made here to create the entire list.

Solution 2

In this solution we examine the possibilities by considering the number of each

digit in the �ve-digit number.

1. The number contains �ve 3s and no 6s.

The number contains �ve 3s and no 6s, so the digit sum is

5× 3 + 0× 6 = 15. Since the digit sum 15 is not divisible by 9, no �ve-digit

number containing this combination of digits is divisible by 9.

2. The number contains four 3s and one 6.

The number contains four 3s and one 6, so the digit sum is

4× 3 + 1× 6 = 18. Since the digit sum 18 is divisible by 9, the �ve-digit

numbers containing this combination of digits are divisible by 9. These

numbers are 33 336, 33 363, 33 633, 36 333, and 63 333. There are 5 such

numbers.

3. The number contains three 3s and two 6s.

The number contains three 3s and two 6s, so the digit sum is

3× 3 + 2× 6 = 21. Since the digit sum 21 is not divisible by 9, no �ve-digit

number containing this combination of digits is divisible by 9.



4. The number contains two 3s and three 6s.

The number contains two 3s and three 6s, so the digit sum is

2× 3 + 3× 6 = 24. Since the digit sum 24 is not divisible by 9, no �ve-digit

number containing this combination of digits is divisible by 9.

5. The number contains one 3 and four 6s.

The number contains one 3 and four 6s, so the digit sum is

1× 3 + 4× 6 = 27. Since the digit sum 27 is divisible by 9, the �ve-digit

numbers containing this combination of digits are divisible by 9. These

numbers are 66 663, 66 636, 66 366, 63 666, and 36 666. There are 5 such

numbers.

6. The number contains no 3s and �ve 6s.

The number contains no 3s and �ve 6s, so the digit sum is

0× 3 + 5× 6 = 30. Since the digit sum 30 is not divisible by 9, no �ve-digit

number containing this combination of digits is divisible by 9.

Combining all of the above cases, there are 0 + 5 + 0 + 0 + 5 + 0 = 10 �ve-digit

numbers that can be formed from the given digits which are divisible by 9. The

10 numbers are 33 336, 33 363, 33 633, 36 333, 63 333, 66 663, 66 636, 66 366,

63 666, and 36 666.
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Problème de la semaine

Problème C

Accumuler de la monnaie

Joanie P. Sauvé conserve des pièces de 25 cents, de 1$ et de 2$ dans sa tirelire

depuis longtemps. Elle ne possède aucun autre type de pièces de monnaie dans sa

tirelire. Un tiers de ses pièces de monnaie sont des 25 cents et un cinquième sont

des pièces de 1$. Il y a 56 pièces de 2$ dans sa tirelire.

Détermine la somme d'argent qu'elle possède dans sa tirelire.

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Accumulating Change

Problem

Penny Saver has been saving quarters, loonies and toonies in her coin bank for a long time. No
other types of coins are in her bank. One third of the coins in the bank are quarters and one
�fth of the coins are loonies. There are 56 toonies in the bank. Determine how much money
Penny has saved in her coin bank.

Solution

Solution 1

One of the key sentences in the problem is �No other types of coins are in her bank.� Using the
fractions given, it will be possible to determine what fraction of the whole is made up by
toonies.

The fraction of toonies in the bank = 1− 1

3
− 1

5
=

15

15
− 5

15
− 3

15
=

7

15
.

We can now determine the total number of coins in the bank. Since 56 toonies are in the bank
and 7

15
of the coins are toonies,

7

15
of the coins in the bank = 56 coins.

Dividing by 7,
1

15
of the coins in the bank = 56÷ 7 = 8 coins.

Multiplying by 15,
15

15
of the coins in the bank = 8× 15 = 120 coins.

There are 120 coins in the bank. We can now determine the number of quarters and loonies.

The number of quarters =
1

3
× 120 = 40 and the number of loonies =

1

5
× 120 = 24.

To determine the amount of money in the bank, we multiply the value of a particular coin by
the quantity of that coin and add the three values together.

Amount in the Bank = Value of Quarters+ Value of Loonies+ Value of Toonies

= $0.25× 40 + $1.00× 24 + $2× 56

= $10.00 + $24.00 + $112.00

= $146.00

Therefore, Penny has a total of $146 in her bank.

A second solution, using equations, is found on the next page.



Solution 2

Let C represent the number of coins in the bank.

Then 1
3
C is the number of quarters in the bank and 1

5
C is the number of loonies in the bank.

It follows that C − 1
3
C − 1

5
C = 15

15
C − 5

15
C − 3

15
C = 7

15
C is the number of toonies in the bank.

But there are 56 toonies in the bank, so

7

15
C = 56

1

15
C = 8 (after dividing both sides by 7)

C = 120 (after multiplying both sides by 15)

There are 120 coins in the bank.

Then 1
3
× 120 = 40 coins are quarters and 1

5
× 120 = 24 coins are loonies.

To determine the amount of money in the bank, we multiply the value of a particular coin by
the quantity of that coin and add the three values together.

Amount in the Bank = Value of Quarters+ Value of Loonies+ Value of Toonies

= $0.25× 40 + $1.00× 24 + $2× 56

= $10.00 + $24.00 + $112.00

= $146.00

Therefore, Penny has a total of $146 in her bank.
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Problème de la semaine

Problème C

Un peu de tout

Si tu énumérais les nombres entiers de 1 à 12, tu obtiendrais cette liste.

1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12.

Si tu additionnais les chi�res de cette liste, tu obtiendrais cette somme.

1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 + (1 + 0) + (1 + 1) + (1 + 2) = 51.

Voici les nombres entiers de 1 à 100. Peux-tu trouver la somme de tous les

chi�res de ces nombres?

1 2 3 4 5 6 7 8 9 10

11 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 37 38 39 40

41 42 43 44 45 46 47 48 49 50

51 52 53 54 55 56 57 58 59 60

61 62 63 64 65 66 67 68 69 70

71 72 73 74 75 76 77 78 79 80

81 82 83 84 85 86 87 88 89 90

91 92 93 94 95 96 97 98 99 100

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Sum of Everything

Problem

If you were to list the integers from 1 to 12, you would

get the list 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12.
If you were to sum the digits of the integers in this list,

you would get the sum
1+2+3+4+5+6+7+8+9+(1+0)+(1+1)+(1+2) = 51.

To the right are the integers from 1 to 100. Can you

�nd the sum of all of the digits of these numbers?

1 2 3 4 5 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
31 32 33 34 35 36 37 38 39 40
41 42 43 44 45 46 47 48 49 50
51 52 53 54 55 56 57 58 59 60
61 62 63 64 65 66 67 68 69 70
71 72 73 74 75 76 77 78 79 80
81 82 83 84 85 86 87 88 89 90
91 92 93 94 95 96 97 98 99 100

Solution

(1) In the table above, each of the ten columns has a units digit that occurs ten
times. So the sum of ALL of the units digits is
10(1)+10(2)+10(3)+10(4)+10(5)+10(6)+10(7)+10(8)+10(9)+10(0)

= 10(1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 + 0)
= 10(45)
= 450

(2) Each of the ten columns has a tens digit from 0 to 9. So the sum of ALL of
the tens digits is
10(0 + 1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9)
= 10(45)
= 450

(3) The number 100 is the only number with a hundreds digit. We need to add
1 to our �nal sum.

(4) Now we add our results from (1), (2), and (3) to obtain the required sum.

Sum of digits = Units digit sum + Tens digit sum + Hundreds Digit

= 450 + 450 + 1

= 901

Therefore, the sum of all of the digits of the numbers from 1 to 100 is 901.
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Problème de la semaine

Problème C

Plus vite

Georgina participe à une course de 12 km. Elle veut compléter la course en une
heure et vingt minutes. Elle commence en courant à une vitesse de 7 km/h.
Après 30 minutes, elle réalise qu'elle doit augmenter sa vitesse a�n de compléter
sa course selon son objectif. Pour le reste du temps, à quelle vitesse doit-elle
courir pour compléter la course en exactement une heure et vingt minutes?

Thèmes Géométrie, Sens du nombre



Problem of the Week

Problem C and Solution

Faster!

Problem

Georgina enters a 12 km race. She wants to �nish the race in one hour and twenty minutes.
She starts o� jogging at a speed of 7 km/h. After 30 minutes, she realizes that she needs to
increase her speed to �nish the race in her desired time. For the remaining time, what speed
must she run at to �nish the race in exactly one hour and twenty minutes?

Solution

Representing the information in a diagram can be helpful when solving a problem
like this.

The total trip is one hour and twenty minutes or 80 minutes. For the �rst 30
minutes, Georgina travels at a constant rate of 7 km/h. This means that in one
hour (60 minutes) she would travel 7 km. Therefore, in half the time or 30
minutes she would travel half the distance or 7÷ 2 = 3.5 km.

So Georgina must run 12− 3.5 = 8.5 km in 80− 30 = 50 minutes.

We need to determine the constant rate that Georgina needs to run at to
accomplish this. Georgina needs to run 8.5 km in 50 minutes. By dividing by 5,
Georgina needs to run 8.5÷ 5 = 1.7 km in 50÷ 5 = 10 minutes. Multiplying each
term by 6 , Georgina must run 1.7× 6 = 10.2 km in 10× 6 = 60 minutes(1 hour.)

Therefore, Georgina must run the remaining distance at 10.2 km/h to accomplish
her goal of �nishing the 12 km race in one hour and twenty minutes.
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Problème de la semaine

Problème C

Décompte à zéro

Chaque année à Problèmeville, on a�che le dé-
compte des secondes jusqu'à la nouvelle année.
L'horloge commence à 20 secondes et compte à
rebours jusqu'à 0.

L'a�chage de l'horloge est composé de sept seg-
ments qui sont soit allumés ou éteints. Lorsque le
chi�re 8 est a�ché, tous les sept segments sont
allumés. Lorsque le chi�re 1 est a�ché, seulement
deux segments sont allumés et les cinq autres sont
éteints.

Lors d'une transition d'un chi�re à un autre, un
segment peut passer d'allumé à éteint, d'éteint à al-
lumé ou peut ne pas changer. Par exemple, pendant
la transition de 5 à 4, trois segments qui étaient
allumés restent allumés, un segment qui était éteint
reste éteint, un segment qui était éteint s'allume
et deux segments qui étaient allumés s'éteignent.
C'est-à-dire, il y a un total de trois changements
d'état dans la transition de 5 à 4.

À

À

Pendant le décompte de 20 à 0, combien de changements d'état y aura-t-il? Autrement dit,
détermine le nombre de fois que les segments passent d'éteints à allumés plus le nombre de fois
de que les segments passent d'allumés à éteints. (À noter que lors de la transition de 10 à 9, le
chi�re de gauche est éteint complètement.)

Les dix chi�res sont démontrés ci-dessous.

Thème Sens du nombre



Problem of the Week

Problem C and Solution

Count Down to Zero

Problem

Every year there is a countdown to the New Year in Problemville. The timer starts at 20 and
counts down to 0. The display for the digits on the timer is made up of seven segments that
are either lit or unlit. When the digit 8 is displayed, all seven segments are lit.When the digit 1
is displayed, only two segments are lit and �ve segments are unlit. In changing from digit to
digit, a segment can change from lit to unlit, from unlit to lit, or could remain unchanged. For
example, in changing from 5 to 4, three of the segments that were lit stay lit, one segment that
was unlit stays unlit, one segment that was unlit becomes lit, and two of the segments that
were lit become unlit. Therefore, there is a total of three changes of state when the timer
changes from 5 to 4. In counting down from 20 to 0, how many changes of state are there? In
other words, determine the number of times segments are turned from unlit to lit plus the
number of times segments are turned from lit to unlit. (Note that, in changing from 10 to 9,
the left digit is turned completely o�.)

Solution

1. Consider the changes to the tens digit as a result of counting from 20 to 0.

When the counter changes from 20 to 19, the tens digit, 2, changes to a 1. As a result of
this change, four segments change from lit to unlit, one segment changes from unlit to lit,
and the other two segments remain unchanged. There are a total of 4 + 1 = 5 state
changes.

When the counter changes from 10 to 9, the tens digit, 1, turns o�. As a result of this
change, two segments become unlit, and the remaining �ve segments remain unchanged.
There are 2 state changes to the tens digit when counting from 10 to 9.

During the entire process of counting from 20 to 0, there are a total of 5 + 2 = 7 changes
in the state of the segments used for the tens digit.

2. Consider the changes to the units digit as a result of counting from 20 to 0.

The total number of changes in the units digit going from 20 to 10 is exactly the same as
the number of changes in the units digit going from 10 to 0. We will count the number of
changes going from 20 to 10 and double our result.

In going from 20 to 19, the units digit changes from 0 to 9. One
segment goes from lit to unlit, one segment goes from unit to lit,
the remaining �ve segments remain unchanged. There is a total of 2
changes. to



In going from 19 to 18, the units digit changes from 9 to 8. One
segment goes from unlit to lit and the remaining six segments remain
unchanged. There is 1 change. to

In going from 18 to 17, the units digit changes from 8 to 7. Four
segments go from lit to unlit and the remaining three segments
remain unchanged. There is a total of 4 changes. to

In going from 17 to 16, the units digit changes from 7 to 6. Four
segments go from unlit to lit, one segment goes from lit to unlit,
and the other two segments remain unchanged. There is a total of 5
changes. to

In going from 16 to 15, the units digit changes from 6 to 5. One
segment goes from lit to unlit, and the other six segments remain
unchanged. There is 1 change. to

In going from 15 to 14, the units digit changes from 5 to 4. Two
segments go from lit to unlit, one segment goes from unlit to lit and
the other four segments remain unchanged. There is a total of 3
changes. to

In going from 14 to 13, the units digit changes from 4 to 3. One
segment goes from lit to unlit, two segments go from unlit to lit and
the other four segments remain unchanged. There is a total of 3
changes. to

In going from 13 to 12, the units digit changes from 3 to 2. One
segment goes from lit to unlit, one segment goes from unlit to lit
and the other �ve segments remain unchanged. There is a total of 2
changes. to

In going from 12 to 11, the units digit changes from 2 to 1. Four
segments goes from lit to unlit, one segment goes from unlit to lit
and the other two segments remain unchanged. There is a total of 5
changes. to

In going from 11 to 10, the units digit changes from 1 to 0. Four
segments goes from unlit to lit and the other three segments remain
unchanged. There is a total of 4 changes. to

So, in counting from 20 to 10 there is a total of 2 + 1 + 4 + 5 + 1 + 3 + 3 + 2 + 5 + 4 = 30
changes to the units digit. Counting from 10 to 0 will produce the same number changes to the
units digit that occurred in going from 20 to 10 so we must count another 30 changes.

In total, there are 7 changes in the tens digit and 60 changes in the units digit, for a total of 67
segment changes in counting down from 20 to 0.
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Problème de la semaine

Problème C

Ch-ch-change

Bill a payé pour un achat de 18,75$ avec un billet de vingt dollars. Dans la caisse,

il n'y a que des pièces de 25 cents, de 10 cents et de 5 cents.

Détermine le nombre de façons di�érentes que le caissier pourrait lui donner le

change?

Pièce de 2 dollars Pièce de 1 dollar

200 cents 100 cents 25 cents 5 cents 10 cents

N'oublie pas que dans ce problème, on peut seulement utiliser des pièces de 25

cents, 5 cents et 10 cents.

Thème Sens du nombre



Problem of the Week

Problem C and Solution

Ch-ch-changes

Problem

Bill made some purchases that totalled $18.75 and paid for them with a twenty-dollar bill. The

cash register has only quarters, dimes and nickels. In how many di�erent ways can the cashier

make change?

Solution

This is a good problem for applying a systematic approach.

The amount of change required is $20− $18.75 = $1.25 or 125 cents. In order to get to 125

cents, a maximum of 5 quarters are required. Once we determine the amount still required

after the value of the quarters has been removed, we can determine the number of di�erent

combinations of dimes that can be given. For each of these possibilities, the remainder of the

change will be nickels.

If 5 quarters are given as part of the change, the $1.25 required as change is covered and no

other coins are required. There is only 1 possibility for change in which 5 quarters are part of

the change.

If 4 quarters are given as part of the change, $0.25 is still required. There are 3 possibilities for

dimes; either 0, 1 or 2 dimes. Therefore, there are 3 di�erent coin combinations possible in

which 4 quarters are part of the change.

If 3 quarters are given as part of the change, $0.50 is still required. There are 6 possibilities for

dimes; either 0, 1, 2, 3, 4, or 5 dimes. Therefore, there are 6 di�erent coin combinations

possible in which 3 quarters are part of the change.

If 2 quarters are given as part of the change, $0.75 is still required. There are 8 possibilities for

dimes; either 0, 1, 2, 3, 4, 5, 6, or 7 dimes. Therefore, there are 8 di�erent coin combinations

possible in which 2 quarters are part of the change.

If 1 quarter is given as part of the change, $1.00 is still required. There are 11 possibilities for

dimes; either 0, 1, 2, 3, 4, 5, 6, 7, 8, 9, or 10 dimes. Therefore, there are 11 di�erent coin

combinations possible in which 1 quarter is part of the change.

If no quarters are given as part of the change, $1.25 is still required. There are 13 possibilities

for dimes; either 0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, or 12 dimes. Therefore, there are 13 di�erent

coin combinations possible in which no quarters are part of the change.

The cashier can make the required change using 1 + 3 + 6 + 8 + 11 + 13 = 42 di�erent possible

combinations of coins.

The solution is presented in chart form on the following page.



Number of Value of Amount Number Value of Amount Number of

Quarters Quarters Remaining of Dimes Dimes Remaining Nickels Required

(in cents) (in cents) (in cents) (in cents)

5 125 0 0 0 0 0

4 100 25 2 20 5 1

1 10 15 3
0 0 25 5

3 75 50 5 50 0 0

4 40 10 2
3 30 20 4
2 20 30 6
1 10 40 8
0 0 50 10

2 50 75 7 70 5 1

6 60 15 3
5 50 25 5
4 40 35 7
3 30 45 9
2 20 55 11
1 10 65 13
0 0 75 15

1 25 100 10 100 0 0

9 90 10 2
8 80 20 4
7 70 30 6
6 60 40 8
5 50 50 10
4 40 60 12
3 30 70 14
2 20 80 16
1 10 90 18
0 0 100 20

0 0 125 12 120 5 1

11 110 15 3
10 100 25 5
9 90 35 7
8 80 45 9
7 70 55 11
6 60 65 13
5 50 75 15
4 40 85 17
3 30 95 19
2 20 105 21
1 10 115 23
0 0 125 25

The cashier can make the required change using 1 + 3 + 6 + 8 + 11 + 13 = 42 di�erent possible

combinations of coins.
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Problème de la semaine

Problème C

Comment ne pas aimer?

En début d'année scolaire, les élèves de la classe de M. Pi ont répondu à la

question suivante : �Aimes-tu les maths?�. Ils pouvaient seulement répondre �oui�

ou �non� et tout le monde devait répondre. Parmi les 30 élèves de la classe, 21 ont

répondu �oui� et 9 ont répondu �non�.

Pendant cette journée, la probabilité de choisir au hasard un élève qui a répondu

�oui� était 21
30 =

7
10 et la probabilité de choisir au hasard un élève qui a répondu

�non� était 9
30 =

3
10 .

Cependant, un certain matin plus tard dans l'année, l'information suivante est

connue à propos de la classe :

� au moins un élève qui a répondu �oui� était absent et au moins un élève qui

a répondu �non � était absent;

� plus de la moitié de la classe était présente; et

� la probabilité de choisir au hasard un élève qui a répondu �oui� était 3
4 .

Avons-nous assez d'information pour déterminer le nombre d'élèves absents ce

matin-là? Si oui, combien d'élèves étaient absents? Sinon, explique pourquoi.

Thèmes Gestion des données, Sens du nombre



Problem of the Week

Problem C and Solution

What's Not to Love?

Problem

At the start of the school year, students in Mr. Pi's class were asked the following question: �Do you
love Math?� They were only allowed to answer �yes� or �no�, and everyone had to answer. Of the 30
students in the class, 21 answered �yes� and 9 answered �no�. So, with every student present, the
probability of randomly selecting a student who answered the question �yes� was 21

30 = 7
10 and the

probability of randomly selecting a student who answered the question �no� was 9
30 = 3

10 .

However, on one particular morning later in the year, the following information was known about the
class: at least one of the students who had answered �yes� was absent and at least one of the students
who had answered �no� was absent; more than half of the class was present; and the probability of
randomly selecting a student who had answered the question �yes� was 3

4 .

Is there enough information to determine how many students were absent that particular morning? If
yes, how many students were absent? If no, explain why not.

Solution

Since at least one student from each of the two groups was absent, there were at least 2

students absent and at most 28 students present. Also, the maximum number of students who

said �yes� would be 21− 1 = 20 and the maximum number of students who said �no� would be

9− 1 = 8. More than half the class was present so at least 16 students were present.

Since the probability of randomly selecting a student who answered �yes� was 3
4
, then the

probability of randomly selecting a student who answered �no� was 1
4
.

We are looking for any number from 16 to 28 which is divisible by 4, so that when we �nd 3
4

and 1
4
of this number our result is a whole number. The numbers from 16 to 28 that are

divisible by 4 are 16, 20, 24 and 28.

The following chart shows the results which are possible using the given information. There are

3 valid solutions that satisfy the given information. Therefore, there is not enough given

information to determine the number of students who were absent that particular morning.

The last solution in the chart in not valid. If the number present was 28, then 21 of those

present would have answered the question �yes�. But at least one student who answered �yes�

was absent so the maximum number of students who answered �yes� would have been 20.

Number Present Number Absent Number who said �yes� Number who said �no� Valid / Not Valid

16 30− 16 = 14 3
4 × 16 = 12 1

4 × 16 = 4 Valid

20 30− 20 = 10 3
4 × 20 = 15 1

4 × 20 = 5 Valid

24 30− 24 = 6 3
4 × 24 = 18 1

4 × 24 = 6 Valid

28 30− 28 = 2 3
4 × 28 = 21 1

4 × 28 = 7 Not Valid

To Think About: Is there another piece of information that Mr. Pi could have provided so

that two of the three valid answers could be eliminated leaving only one valid answer?
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Problème de la semaine

Problème C

Quel dégât!

En regardant dans son ancien cahier de mathématiques, Jing voit le dégât
suivant sur une des pages:

La so
mme est

 

divisib
le pa

r 

trois

2 4

+ 3 2 9

5 3

Le chi�re du milieu des nombres en-haut et en-bas ont chacun été tachés et ne
sont plus lisibles. À côté du problème, la note suivante est écrite : � La somme est
divisible par trois.�

Si le chi�re manquant du nombre en-haut est A et le chi�re manquant du nombre
en-bas est B, détermine les valeurs possibles de A et B.

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

What a Mess!

Problem

Jing was looking through an old math notebook and found the following question on one of the

pages. The middle digit of the top and bottom numbers were both smudged and unreadable.

Beside the question there was a handwritten note which read: �The sum is divisible by three.�

If the missing middle digit in the top number is A and the missing middle digit in the bottom

number is B, determine all possible values for A and B.

2 A 4
+ 3 2 9

5 B 3

Solution

Solution 1

First we �nd the possible values of B. For a number to be divisible by 3, the sum

of its digits must be divisible by 3. So 5 +B + 3 must be divisible by 3. The only

possible values for B are thus 1, 4, or 7.

We know that 2A4 + 329 = 5B3 so 2A4 = 5B3− 329.

We can try each of the possible values for B in the equation 2A4 = 5B3− 329 to

�nd values of A that make the equation true.

1. If B = 1, then 513− 329 = 184, which cannot equal 2A4. So when B = 1
there is no A to satisfy the problem.

2. If B = 4, then 543− 329 = 214, which does equal 2A4 when A = 1. So for

A = 1 and B = 4 there is a valid solution.

3. If B = 7, then 573− 329 = 244, which does equal 2A4 when A = 4. So for

A = 4 and B = 7 there is a valid solution.

Therefore, when A = 1 and B = 4 or when A = 4 and B = 7, the given problem

has a valid solution.



Solution 2

2 A 4
+ 3 2 9

5 B 3

When the digits in the unit's column are added together, there is one carried to

the ten's column. When the digits in the hundred's column are added together

we get 2 + 3 = 5 so there is no carry from the ten's column. Therefore, when the

ten's column is added we get 1 + A+ 2 = B or A+ 3 = B.

We can now look at all possible values for A that produce a single digit value for

B in the number 5B3. We can then determine whether or not 5B3 is divisible by

3.

The following table summarizes the results.

A B = A+ 3 5B3 Divisible by 3 (yes/no)?

0 3 533 no

1 4 543 yes

2 5 553 no

3 6 563 no

4 7 573 yes

5 8 583 no

6 9 593 no

Therefore, when A = 1 and B = 4 or when A = 4 and B = 7, the given problem

has a valid solution.
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Problème de la semaine

Problème C

Nous avons pris les biscuits

Une jarre à biscuits contient un certain nombre de biscuits. Trois amis se

partagent les biscuits comme suit. En premier, Harold place les biscuits en trois

piles égales, sans reste. Puis, il garde une des piles pour lui-même et remet les

deux autres piles dans la jarre. Ensuite, Lucie prend les biscuits restants dans la

jarre et les place en trois piles égales, sans reste. Elle prend une des piles et remet

les deux autres dans la jarre. Finalement, Livio prend les biscuits restants dans la

jarre, les sépare en trois pile égales, mais il reste un biscuit. Il garde le biscuit

restant ainsi qu'une des piles et remet les deux autres piles dans la jarre.

S'il reste maintenant 10 biscuits dans la jarre, combien de biscuits y avait-il dans

la jarre à biscuits au début?

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

We Took the Cookies

Problem

There is a cookie jar that contains a certain number of cookies. Three friends divide the

cookies in the following way. First, Harold takes all of the cookies and places them into three

equal piles with none left over. He then keeps one of the piles and puts the other two piles back

into the jar. Next, Lucie takes the remaining cookies in the jar and places them into three

equal piles with none left over. She then keeps one of the piles and puts the other two piles

back into the jar. Finally, Livio takes the remaining cookies in the jar and places them into

three equal piles, but there is one cookie left over. He then keeps the leftover cookie and one of

the piles and puts the other two piles back into the jar. If there are now 10 cookies in the jar,

how many cookies were originally in the cookie jar?

Solution

We will present two di�erent solutions. Solution 1 works backwards through the

problem. Solution 2 is an algebraic solution.

Solution 1

The last 10 cookies in the cookie jar are also the remaining two of Livio's three

piles. Therefore, each pile he made had 10÷ 2 = 5 cookies. Therefore, there were

5× 3 = 15 cookies in the three piles he made plus 1 more cookie that he kept, for

a total of 16 cookies. Therefore, there were 16 cookies in the cookie jar when

Livio started dividing the cookies.

These 16 cookies were two of the three piles that Lucie made. Therefore, each

pile that she made had 16÷ 2 = 8 cookies. Therefore, there were 8× 3 = 24
cookies in the three piles that she made. Therefore, there were 24 cookies in the

cookie jar when Lucie started dividing the cookies.

These 24 cookies were two of the three piles that Harold made. Therefore, each

pile that he made had 24÷ 2 = 12 cookies. Therefore, there were 12× 3 = 36
cookies in the three piles that he made. Therefore, there were 36 cookies in the

cookie jar when Harold started dividing the cookies.

Therefore, there were originally 36 cookies in the cookie jar.



Solution 2

Let the initial number of cookies in the cookie jar be C.

Harold has 1
3C cookies in the pile he keeps. Therefore, 2

3C cookies are left for

Lucie.

Lucie keeps 1
3 of 2

3C cookies. Therefore, 2
3 of 2

3C cookies are left for Livio. That

is, 2
3 ×

2
3C = 4

9C cookies are left for Livio.

For Livio, the pile he keeps is 1
3 of one less than what is left. That is

1
3 ×

(
4
9C − 1

)
, and so the remaining number of cookies that he puts back into the

cookie jar is equal to 2
3 ×

(
4
9C − 1

)
.

This is also equal to 10. That is,

2

3
×

(
4

9
C − 1

)
= 10

Dividing both sides by 2
3 ,

2
3 ×

(
4
9C − 1

)
2
3

=
10
2
3

Since 10÷ 2
3 = 10× 3

2 =
30
2 = 15,

4

9
C − 1 = 15

Therefore,
4

9
C = 16

Dividing both sides by 4
9 ,

4
9C
4
9

=
16
4
9

Since 16÷ 4
9 = 16× 9

4 = 36,
C = 36

Therefore, there were originally 36 cookies in the cookie jar.
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Problème de la semaine

Problème C

Segment circulaire

Dans le diagramme, ∠BOA = 90◦ et le rayon du cercle, OA, mesure 5 cm.

Détermine l'aire de la partie ombrée. Arrondis ta réponse au dixième près.

Thème Géométrie



Problem of the Week

Problem C and Solution

Circular Segment

Problem

In the diagram above, ∠BOA = 90◦ and the radius of the circle, OA, is 5 cm. Determine the
area of the shaded region correct to one decimal place.

Solution

Together, 4BOA and the shaded region cover 1
4
of the area of the circle.

To �nd the area of the shaded region, we need to �nd the area of the triangle and subtract it
from one-quarter of the area of the circle.

Since ∠BOA = 90◦, OA and OB meet at 90◦. We can then use OA as the base and OB as the
height in the formula for the area of a triangle to �nd the area of 4BOA.

Area 4BOA =
base× height

2

=
OA×OB

2

=
5× 5

2
(OA and OB are radii of the circle.)

=
25

2
= 12.5 cm2

To �nd the area of the quarter circle, we will use the formula for the area of a circle, A = πr2,
and then divide the result by 4.

Area of the Quarter Circle = π × r2 ÷ 4

= π × 5× 5÷ 4

= π × 25÷ 4

= (6.25× π) cm2

We can now determine the shaded area.

Shaded Area = Area of the Quarter Circle− Area 4BOA
= 6.25× π − 12.5

=̇ 7.1 cm2

Therefore, correct to one decimal place, the shaded area is 7.1 cm2.
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Problème de la semaine

Problème C

Côté à côté

Dans le diagramme, ∠APB = 12◦. Les points Q,R, S, T, . . . alternent d'un côté

à l'autre de l'angle, chaque point est situé plus loin de P que le point qui le

précède et PQ = QR = RS = ST = . . . Par la suite, un des triangles isocèles

sera aussi équilatéral. Combien de triangles isocèles seront formés avant que le

triangle équilatéral soit formé?

Thème Géométrie



Problem of the Week

Problem C and Solution

Arm to Arm

Problem

In the diagram, ∠APB = 12◦. Points Q,R, S, T, . . . alternate from one arm of the angle to the

other, each point located farther away from P than the point before and

PQ = QR = RS = ST = . . .. Eventually, one of the isosceles triangles will be an equilateral

triangle. How many isosceles triangles will be formed before the equilateral triangle is formed?

Solution

Throughout this solution there will be references to the exterior angle theorem
(EAT). The theorem states: �An exterior angle of a triangle is equal to the sum
of the opposite interior angles inside the triangle.� For example, ∠SQR is
exterior to 4QPR and ∠SQR = ∠QPR + ∠QRP .

Extend the diagram so a few more triangles are created such that
PQ = QR = RS = ST = TU = UV = VW . In the solution we will show that
there will be 4 isosceles triangles before the equilateral triangle is formed.

In 4QPR, ∠QPR = 12◦ and PQ = QR.
Therefore, 4QPR is isosceles and ∠QRP = ∠QPR = 12◦. ∠SQR is exterior to
4QPR so, by EAT, ∠SQR = ∠QPR + ∠QRP = 12◦ + 12◦ = 24◦.

In 4RQS, ∠SQR = 24◦ and QR = RS.
Therefore, 4RQS is isosceles and ∠RSQ = ∠SQR = 24◦. ∠SRT is exterior to
4PRS so, by EAT, ∠SRT = ∠SPR + ∠PSR = 12◦ + 24◦ = 36◦.

In 4SRT , ∠SRT = 36◦ and SR = ST .
Therefore, 4SRT is isosceles and ∠STR = ∠SRT = 36◦. ∠UST is exterior to
4PST so, by EAT, ∠UST = ∠SPT + ∠STP = 12◦ + 36◦ = 48◦.



In 4TSU , ∠UST = 48◦ and ST = TU .
Therefore, 4TSU is isosceles and ∠TUS = ∠UST = 48◦. ∠UTV is exterior to
4PUT so, by EAT, ∠UTV = ∠UPT + ∠PUT = 12◦ + 48◦ = 60◦.

In 4UTV , ∠UTV = 60◦ and TU = UV .
Therefore, 4UTV is isosceles and ∠UV T = ∠UTV = 60◦. Since
∠UV T = ∠UTV = 60◦, the sum of these angles is 120◦ and the remaining angle
∠TUV = 180◦ − 120◦ = 60◦. Since all three angles equal 60◦, the triangle is an
equilateral triangle.

Since 4UTV is the �fth triangle, there are 4 isosceles triangles before the
equilateral triangle is formed.

EXTENSION: In our problem, we started with ∠APB = 12◦ and we
eventually generated an equilateral triangle. What other values for ∠APB will
eventually generate an equilateral triangle?
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Problème de la semaine

Problème C

Douze à la perfection!

Douze rectangles identiques sont arrangés de façon à créer le rectangle PQRS,

comme le démontre le diagramme ci-haut.

Si l'aire du rectangle PQRS est 540 cm2, détermine les dimensions des petits

rectangles.

Thèmes Algèbre, Géométrie



Problem of the Week

Problem C and Solution

A Perfect Dozen

Problem

Twelve identical rectangles are arranged as shown in the diagram above to form a large

rectangle PQRS. If the area of rectangle PQRS is 540 cm2, determine the dimensions of the

smaller rectangles.

Solution

Solution 1

Let x be the width of one of the smaller identical rectangles, in cm. Five of the
smaller rectangles are stacked on top of each other creating PS, so
PS = x+ x+ x+ x+ x = 5x. Since PQRS is a rectangle, PS = QR = 5x. But
5x then also is the length of a smaller rectangle. Therefore, a smaller rectangle is
5x cm by x cm. This information is all marked on the following diagram.

The area of rectangle PQRS is the same as 12 times the area of one of the
smaller rectangles.

Area PQRS = 12× Area of one smaller rectangle

540 = 12× 5x× x

540 = 60× x2

Dividing both sides by 60, we obtain x2 = 9 and x = 3 follows. (x > 0 since x is
the width of a smaller rectangle.)

The width of a smaller rectangle is x = 3 cm and the length of a smaller
rectangle is 5x = 5(3) = 15 cm.

Therefore, the smaller rectangles are each 15 cm long and 3 cm wide.



Solution 2

Let x be the width of one of the smaller identical rectangles, in cm. Five
rectangles are stacked on top of each other creating PS, so
PS = x+ x+ x+ x+ x = 5x.

Also PQRS is a rectangle so QR = PS = 5x and 5x is also the length of a
smaller rectangle.

Now SR is made up of the lengths of two of the smaller rectangles plus the
widths of two of the smaller rectangles. Therefore, SR = 5x+ 5x+ x+ x = 12x
and rectangle PQRS is 12x cm long and 5x cm wide.

To �nd the area of PQRS we multiply the length SR by the width QR.

Area PQRS = SR×QR

540 = (12x)× (5x)

540 = 12× 5× x× x

540 = 60× x2

Dividing by 60, we obtain x2 = 9 and x = 3 follows. (x > 0 since x is the width
of a smaller rectangle.)

The width of a smaller rectangle is x = 3 cm and the length of a smaller
rectangle is 5x = 5(3) = 15 cm.

Therefore, the smaller rectangles are each 15 cm long and 3 cm wide.
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Problème de la semaine

Problème C

Une longueur manquante

Un cercle ayant un centre au point B et un rayon de 13 cm possède trois points
distincts, F , D et E, sur sa circonférence de façon à ce que BF ⊥ BE et que D

se situe sur l'arc mineur FE. Le point A est situé sur BF de façon à ce que
DA ⊥ BF . Le point C est sur BE de façon à ce que les points A, B, C, et D
forment un rectangle et que la distance entre C et E soit de 1 cm.

Détermine la distance de A à F .

Le théorème de Pythagore nous dit que �Dans un triangle rectangle, le carré de la
longueur de l'hypoténuse (le côté opposé à l'angle droit) est égal à la somme des
carrés des longueurs des deux autres côtés�.

Dans le triangle rectangle suivant, p2 = r2 + q2.

!

"

#
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Problem of the Week

Problem C and Solution

A Missing Length

Problem

A circle with center B and radius 13 cm has three distinct points, F , D and E, on its

circumference so that BF ⊥ BE and D is on the minor arc FE. Point A is on BF so that

DA ⊥ BF . The point C is on BE so that ABCD is a rectangle and the distance from C to E
is 1 cm. Determine the distance from A to F .

Solution

Construct radius BD.

Since the radius of the circle is 13 cm,
BF = BD = BE = 13 cm.

Then BC = BE − CE = 13− 1 = 12 cm.

Since ABCD is a rectangle, ∠BCD = 90◦.

Using the Pythagorean Theorem in right 4BCD,

DC2 = DB2 −BC2

= 132 − 122

= 169− 144

= 25

DC = 5 cm (since DC > 0)

Since ABCD is a rectangle, AB = DC = 5 cm.

Then AF = BF − AB = 13− 5 = 8 cm.

Therefore, the length of AF is 8 cm.
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Problème de la semaine

Problème C

Peux-tu la construire?

Deux élèves construisent des boîtes dans leur cours de menuiserie. Le premier
élève construit une boîte cubique dont les côtés mesurent 60 cm. Le deuxième
élève construit une boîte en forme de prisme rectangulaire dont la longueur
mesure l cm, la hauteur mesure 30 cm et la largeur mesure 45 cm.

Étonnamment, les deux boîtes ont la même aire totale.

Détermine quelle boîte possède un plus grand volume? Par combien le volume de
cette boîte est-il plus grand que l'autre?

Thèmes Algèbre, Géométrie



Problem of the Week

Problem C and Solution

Can You Build It?

Problem

Two students are building storage boxes in woodworking class. The �rst student builds a box

in the form of a cube with each edge measuring 60 cm. The second student builds a box in the

shape of a rectangular prism with width w cm, height 30 cm and depth 45 cm. Surprisingly,

each student's box has the same total surface area. Determine which student's box has the

greatest volume. How much greater is the volume?

Solution

To �nd the total surface area of a cube, determine the area of one side and multiply by 6.

Therefore, the total surface area of the cube-shaped box is 6× 60× 60 = 21 600 cm2.

To �nd the total surface area of the rectangular prism, determine the sum of the areas of the

six sides. The front side and the back side have equal areas. The top and the bottom have

equal areas. Each of the remaining two sides have equal area. Therefore, the total surface area

of the rectangular prism box is

2× area of front+ 2× area of top+ 2× area of side

= 2× 30× w + 2× 45× w + 2× 30× 45

= 60w + 90w + 2700

= 150w + 2700

But the total surface area of the cube-shaped box is the same as the total surface area of the

rectangular prism. So,

21 600 = 150w + 2700

21 600− 2700 = 150w + 2700− 2700

18 900 = 150w
18 900

150
=

150w

150
126 = w

Therefore, the width of the rectangular prism is 126 cm.

To �nd the volume of a cube, �cube� the edge length. So, the volume of the cube is

60× 60× 60 = 603 = 216 000 cm3.

To �nd the volume of the rectangular prism, multiply the three di�erent edge lengths. So, the

volume of the rectangular prism is 126× 45× 30 = 170 100 cm3.

Therefore, the student who is building the cube has the box with the greater volume. The

volume of the cube is greater by 216 000− 170 100 = 45 900 cm3.
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Problème de la semaine

Problème C

Plus vite

Georgina participe à une course de 12 km. Elle veut compléter la course en une
heure et vingt minutes. Elle commence en courant à une vitesse de 7 km/h.
Après 30 minutes, elle réalise qu'elle doit augmenter sa vitesse a�n de compléter
sa course selon son objectif. Pour le reste du temps, à quelle vitesse doit-elle
courir pour compléter la course en exactement une heure et vingt minutes?

Thèmes Géométrie, Sens du nombre



Problem of the Week

Problem C and Solution

Faster!

Problem

Georgina enters a 12 km race. She wants to �nish the race in one hour and twenty minutes.
She starts o� jogging at a speed of 7 km/h. After 30 minutes, she realizes that she needs to
increase her speed to �nish the race in her desired time. For the remaining time, what speed
must she run at to �nish the race in exactly one hour and twenty minutes?

Solution

Representing the information in a diagram can be helpful when solving a problem
like this.

The total trip is one hour and twenty minutes or 80 minutes. For the �rst 30
minutes, Georgina travels at a constant rate of 7 km/h. This means that in one
hour (60 minutes) she would travel 7 km. Therefore, in half the time or 30
minutes she would travel half the distance or 7÷ 2 = 3.5 km.

So Georgina must run 12− 3.5 = 8.5 km in 80− 30 = 50 minutes.

We need to determine the constant rate that Georgina needs to run at to
accomplish this. Georgina needs to run 8.5 km in 50 minutes. By dividing by 5,
Georgina needs to run 8.5÷ 5 = 1.7 km in 50÷ 5 = 10 minutes. Multiplying each
term by 6 , Georgina must run 1.7× 6 = 10.2 km in 10× 6 = 60 minutes(1 hour.)

Therefore, Georgina must run the remaining distance at 10.2 km/h to accomplish
her goal of �nishing the 12 km race in one hour and twenty minutes.
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Problème de la semaine

Problème C

Tout clôturé

Un terrain en forme triangulaire, ABC, a des côtés congrus. Chaque côté mesure

120 m. Le terrain est subdivisé en 8 petits terrains, comme suit :

� Les côtés BA et BC sont divisés en 8 segments congrus.

� Chaque point de division sur BA est ensuite relié au point de division

correspondant sur BC pour créer 7 segments de droites.

� Les 7 segments de droites sont tous parallèles au troisième côté du triangle,

AC, comme le montre le diagramme ci-dessous.

Huit terrains sont créés de cette façon. Le terrain ombré sera entouré d'une

clôture. Combien de mètres de clôture seront nécessaires?

Thème Géométrie



Problem of the Week

Problem C and Solution

Fence Me In

Problem

A triangular plot of land, labeled ABC in the

diagram above, has equal side lengths. Each side

is 120 m. The larger plot of land is divided into 8

smaller plots of land as follows: sides BA and BC
are each divided into 8 segments of equal length,

and each point of division on BA is connected to its

corresponding point of division on BC, creating 7

line segments, each of which is parallel to the third

side of the triangle, BC. This process creates eight

plots of land. The shaded section is to be surrounded

by fence. How much fencing is required?

Solution

Solution 1

The angles in an equilateral triangle are each 60◦. Therefore
∠BAC = ∠BCA = ∠ABC = 60◦.

Label the points of division as shown on the diagram above.

Since each of the sides BA and BC are sides of an equilateral triangle, BA = BC = 120 m.

Each of these sides is divided into 8 segments of equal length. It follows that

BD = DF = FH = HL = LN = NQ = QS = SA = 120÷ 8 = 15 m and

BE = EG = GK = KM = MP = PR = RT = TC = 120÷ 8 = 15 m.

Since HK ‖ LM ‖ AC, ∠BHK = ∠BLM = ∠BAC = 60◦ and

∠BKH = ∠BML = ∠BCA = 60◦.

In 4BHK, ∠BHK = ∠BKH = ∠HBK = 60◦ and it follows that 4BHK is equilateral. But

BH = BD +DF + FH = 15 + 15 + 15 = 45, so HK = 45 m.

Similarly, in 4BLM , ∠BLM = ∠BML = ∠LBM = 60◦ and it follows that 4BLM is

equilateral. But BL = BD +DF + FH +HL = 15 + 15 + 15 + 15 = 60, so LM = 60 m.

The perimeter of the shaded region is HL+LM +KM +HK = 15+ 60+ 15+ 45 = 135 m. It

follows that 135 m of fencing is required to enclose this shaded area.



Solution 2

Label the points of division as shown on the diagram below.

Observe that the large equilateral triangle can be tiled with copies of the smaller equilateral

triangle with side length 15 m. A complete justi�cation of this is not provided here but you

may wish to verify this for yourself.

Three of the smaller equilateral triangles cover the entire area occupied by quadrilateral

DEGF .

Five of the smaller equilateral triangles cover the entire area occupied by quadrilateral FGKH.

Seven of the smaller equilateral triangles cover the entire area occupied by quadrilateral

HKML.

If we were to continue, 4ABC would contain
1 + 3 + 5 + 7 + 9 + 11 + 13 + 15 = 64

of the smaller equilateral triangles.

In quadrilateral HKML, the smaller side, HK, contains the bases of three of the smaller

equilateral triangles and therefore is 45 m long. The larger side, LM , contains the bases of four

of the smaller equilateral triangles and therefore is 60 m long.

The perimeter is the sum of the lengths of the four sides of quadrilateral HKML. Therefore,
the perimeter of the shaded region is 15 + 15 + 45 + 60 = 135 m. It follows that 135 m of

fencing is required to enclose this shaded area.
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Problème de la semaine

Problème C

Un cercle et d'autres formes

Le quadrilatère ABED est composé du carré ABCD et du triangle rectangle

isocèle 4BCE. BE est le diamètre d'un cercle ayant un centre au point O. Le

point C est aussi sur le cercle.

Si l'aire de ABED est 24 cm2, quelle est la longueur de BE?

Le théorème de Pythagore nous dit que �Dans un triangle rectangle, le carré de la longueur de
l'hypoténuse (le côté opposé à l'angle droit) est égal à la somme des carrés des longueurs des
deux autres côtés�.

Dans le triangle rectangle suivant, , p2 = r2 + q2.

!

"

#

Thème Géométrie



Problem of the Week

Problem C and Solution

A Circle and Other Shapes

Problem

Quadrilateral ABED is made up of square ABCD and right isosceles 4BCE. BE is a

diameter of the circle with centre O. Point C is also on the circle. If the area of ABED is

24 cm2, what is the length of BE?

Solution

Let AB = AD = DC = CB = CE = x.
Therefore, the area of square ABCD is x2 and the area

of 4BCE is
1

2
(x)(x) = 0.5x2.

Therefore,

total area of quadrilateral ABED = area of square ABCD + area of 4BCE

= x2 + 0.5x2

= 1.5x2

Now we also know that the area of ABED is 24 cm2. Therefore,

1.5x2 = 24
1.5x2

1.5
=

24

1.5
x2 = 16

x = 4, since x > 0

Now let's look at 4BCE.

We know BC = CE = 4.
Using the Pythagorean Theorem,

BE2 = 42 + 42

= 16 + 16

= 32

BE =
√
32, since BE > 0

Therefore, BE =
√
32 cm, or approximately 5.7 cm.
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Problème de la semaine

Problème C

Jusqu'à un certain point

Les points A(7, 12), B(3, 2), C(11, 2), D(6, 2) et E(10, 2) sont placés dans le
plan cartésien tel qu'illustré ci-dessous. Le point F est placé à l'intérieur du
4ABC de façon à ce que l'aire de la partie ombragée soit de 32 unités2.

Si la première coordonnée (x) du point F est 8, quelle est la seconde coordonnée
(y) du point F ?

Thème Géométrie



Problem of the Week

Problem C and Solution

Up to a Certain Point

Problem

Points A(7, 12), B(3, 2), C(11, 2), D(6, 2) and E(10, 2)
are placed on the Cartesian plane, as shown to the right.
The point F is placed inside 4ABC so that the area of
the shaded region is 32 units2. If the x-coordinate of F is
8, what is the y-coordinate of F?

Solution

We will solve this problem in two ways. The �rst solution uses grid lines, the second solution
does not. In both solutions, to �nd the area of the shaded region we will take the area of the
large triangle, 4ABC, subtract the area of the small triangle, 4DEF , and then use the given
information that this area is equal to 32 units2.

Solution 1
To determine the height (h) and base (b) of each triangle, we use grid paper:

The area of 4ABC = b×h
2

= 8×10
2

= 40 (see above left).

The area of 4DEF = b×h
2

= 4×h
2

= 2h (see above right).

Therefore, the area of the shaded region is 40− 2h, which is also equal to 32. So 2h must equal
8, and therefore h = 4.

Now point F is h = 4 units higher than the base of the triangle, which is 2 units above the
x-axis.
Therefore, the y-coordinate of point F is 2 + 4 = 6.



Solution 2

In this solution, we use the fact that the distance between two points that have the same
x-coordinate is the positive di�erence between their y-coordinates. We will also use the fact
that the distance between two points that have the same y-coordinate is the positive di�erence
between their x-coordinates.
In 4ABC, drop a perpendicular from vertex A to M on BC. Since BC is horizontal, then
AM is vertical. Since every point on a vertical line has the same x-value, M has x-coordinate
7. Similarly, since M is on the horizontal line through B(3, 2) and C(11, 2), M has
y-coordinate 2. Therefore, the base of 4ABC is b = 11− 3 = 8 and the height is
h = 12− 2 = 10. Now, the area of 4ABC = b×h

2
= 8×10

2
= 40 (see below left).

In 4DEF , drop a perpendicular from vertex F to N on DE. Since DE is horizontal, then
FN is vertical. Since every point on a vertical line has the same x-value, N has x-coordinate 8.
Similarly, since N is on the horizontal line through D(6, 2) and E(10, 2), N has y-coordinate 2.
Therefore, the base of 4DEF is b = 10− 6 = 4 and the height is h = k − 2. Now, the area of
4DEF = b×h

2
= 4×(k−2)

2
= 2(k − 2) (see above right).

We can now solve for k:

40− 2(k − 2) = 32

Subtracting 32 from each side: 8− 2(k − 2) = 0

Adding 2(k − 2) to each side: 8 = 2(k − 2)

4 = k − 2

6 = k

Therefore, the y-coordinate of point F is 6.
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Problème de la semaine
Problème C

Des boîtes de hamburgers

Au restaurant local de hamburgers, Patty prépare toujours un ham-
burger à la fois. Après avoir fait cuire un hamburger, elle le place
dans une des trois boîtes suivantes: une avec des points, une avec
des lignes ou une qui est blanche. Elle met le premier hamburger
dans une boîte avec des points et place la boîte sur le dessus d’une
pile. Ensuite, elle place le deuxième hamburger dans une boîte avec
des lignes et le met sur le dessus de la pile. Finalement, Patty place
le dernier hamburger dans une boîte blanche et le met sur le des-
sus de la pile. Si elle prépare trois hamburgers, elle aurait une pile
comme celle de l’image 1.

Image 1

Patty répète cette régularité. Lorsqu’un hamburger est prêt, elle le
place dans une boîte, place la boîte sur la pile de hamburgers qu’il
reste à vendre et continue à faire le cycle des trois boîtes (points,
lignes, blanche, points, lignes, blanche,...). Si elle prépare deux
autres hamburgers, elle aurait une pile comme celle de l’image 2.

En même temps, Tom vend les hamburgers, un par un, et prend la
boîte du dessus de la pile. Patty prépare les hamburgers plus vite
que Tom les vend.

Image 2

Un jour, alors que Patty préparait des hamburgers et Tom vendait
des hamburgers, la pile de hamburgers prêts à vendre ressemble à
celle de l’image 3. Quel est le plus petit nombre possible de ham-
burgers vendus par Tom? Explique ta réponse.

Image 3

Thèmes Algèbre, Pensée computationnelle



Problem of the Week

Problem C and Solution

Burger Boxes

Problem
At the local burger restaurant, Patty always cooks burgers one at a time. After cooking a
burger, she places it into one of three di�erent boxes: one with dots, one with stripes, and one
plain box. If she has cooked three burgers, she would have a stack as shown in Image 1. Patty
then repeats the pattern of placing the burgers in boxes. As she cooks a burger, she places that
box on the top of the stack of not yet sold burgers, and continues to cycle through the three
di�erent boxes (dot, stripe, plain, dot, stripe, plain, ...) into which to place the burger. If she
cooked two more burgers, she would have a stack as shown in Image 2. At the same time, Tom
sell burgers one at a time and always takes the uppermost box from the stack. Patty cooks
faster than Tom can sell the burgers. Shortly into a new shift, Patty has cooked some burgers
and Tom has sold some burgers. The stack of unsold burgers looks like the stack in Image 3.
What is the fewest number of burgers sold by Tom? Explain your answer.

Image 1

Image 2

Image 3
Solution

Consider labelling the boxes as D (for dotted), S (for striped) and P (for plain, meaning no
dots or stripes). So, we want to get a sequence that looks like: D,D, P,D, S, P, S, P where the
leftmost boxes are at the bottom of the stack, and the rightmost boxes are at the top.

If no burgers were sold at all, we would have the sequence: D,S, P,D, S, P,D, S, P,D, S, P, . . .

Notice that if we sell the burgers that are bolded as shown in the sequence:
D,S,P, D,S, P,D, S, P,D, S, P, we have the sequence: D,D, P,D, S, P, S, P . This is the
sequence that we are looking for. We can think of each bolded term as a burger being sold.
The minimum number of boxes between the �rst two Ds is 2 (S, P ). The minimum number of
boxes between D and P is 1 (S). The minimum number boxes between the P and S is 1 (D).
Therefore, the least amount of burgers sold is 2 + 1 + 1 = 4.



The Beaver Computing Challenge (BCC):

This problem is based on a previous BCC problem. The BCC is designed to get students with
little or no previous experience excited about computing. Questions are inspired by topics in
computer science and connections to Computer Science are described in the solutions to all past
BCC problems. If you enjoyed this problem, you may want to explore the BCC contest further.

Connections to Computer Science:

Computer scientists are concerned about how to e�ciently store information. For certain
problems, the best way to store information is in a data structure called a stack. A stack is a
data structure that imposes the following rule about accessing data:

� new items can be put on the top of the stack (to become the new top of the stack): this
is called pushing the element onto the stack

� items that are to be removed are removed from the top of the stack (making the element
just below the top the new top of the stack): this is called popping the stack

Stacks are used for a variety of problem solving techniques, and perhaps the easiest one to
visualize is the balanced parentheses problem. You would like to verify that some
mathematical expression involving parentheses is valid. So (1+1), is valid, ((2+3)*(1+1)) is
valid and so on. Ignoring any of the numbers or operators, we can ensure that we have a valid
sequence of parentheses by the following simple process:

� read the mathematical expression from left-to-right;

� if we see (, push ( onto the stack;

� if we see ), pop the top ( symbol from the stack;

� if we try to pop an empty stack, i.e., a stack without anything on it, the sequence is
invalid;

� if we read the entire mathematical expression and the stack is not empty, the sequence is
invalid;

� otherwise, the sequence is valid.

You can verify that the sequences above are veri�ed by this algorithm, and that sequences like

(((1+1) and )()()( would be correctly determined to be invalid by this algorithm.
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Problème de la semaine

Problème C

Jouons avec des disques

Un sac contient des disques circulaires. Dans le sac, il y a 5 disques bleus, 6
disques rouges, 3 disques verts et 2 disques jaunes. Plusieurs disques oranges sont
ajoutés au sac. À part leur couleur, tous les disques dans le sac sont identiques.

Un disque est choisi au hasard. La probabilité de choisir un disque bleu ou vert
est maintenant 2

7 .

Combien de disques oranges ont été ajoutés au sac?

Thèmes Algèbre, Gestion des données



Problem of the Week

Problem C and Solution

Playing with Disks

Problem

A bag contains circular disks. In the bag, there are 5 blue disks, 6 red disks, 3 green disks and

2 yellow disks. Several orange disks are added to the bag. All the disks in the bag are identical

except for colour. A disk is now randomly selected from the bag. The probability of a blue or

green disk being selected is now 2
7
. How many orange disks were added to the bag?

Solution

Solution 1

At present there are 5 + 6 + 3 + 2 = 16 disks in the bag. Since, after adding some orange disks

to the bag, the probability of picking a blue or green disk is 2
7
, this implies that the new total

number of disks in the bag is a multiple of 7 and this multiple must be greater than 16.

Therefore, there are possibly 21, 28, 35, 42, 49, 56, · · · disks in the bag.

The number of blue and green disks in the bag is 5 + 3 = 8. If k is the total number of disks in

the bag after adding some orange disks, then 8
k
= 2

7
but 2

7
= 8

28
so 8

k
= 8

28
and k = 28 follows.

Since there were 16 disks in the bag and there are now 28 disks in the bag, then 28− 16 = 12
orange disks were added to the bag.

Therefore, 12 orange disks were added to the bag.

Solution 2

Let w be the number of orange disks added to the bag.

There are now 5 + 6 + 3 + 2 + w = 16 + w disks in the bag. The number of blue and green

disks in the bag is 5 + 3 = 8. We know that the number of blue and green disks divided by the

total number of disks in the bag is 2
7
, so 8

16+w
= 2

7
.

If we multiply the numerator and denominator of the fraction 2
7
by 4, we obtain 2

7
= 2×4

7×4
= 8

28
,

which has the same numerator as the fraction 8
16+w

.

Since the fractions are equal and the numerators are equal, the denominators must also be

equal. It follows that 16 + w = 28 and w = 12.

Therefore, 12 orange disks were added to the bag.
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Problème de la semaine

Problème C

Votez!

Seulement deux candidats se sont présentés pour l'élection d'un représentant

pour le conseil d'élèves.

Paul Premier a obtenu 60% des votes et Saheel Seconde a obtenu le reste des

votes. Si Paul a remporté l'élection par 28 votes, combien de personnes ont voté

en tout?

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Vote!

Problem

In an election for a grade representative on the school council, there were only two candidates.

Freda First received 60% of the total votes and Saheel Second received all the rest. If Freda

won by 28 votes, how many people voted?

Solution

If Freda received 60% of the votes, then Saheel received 40% of the total number

of votes. The di�erence between them, 20%, represents 28 votes.

We are interested in determining 100% of the votes, that is, the total number of

votes cast. Since we know that 20% of the total votes cast was 28 votes and

5× 20 = 100, then the total number of votes cast was 5× 28 or 140 votes.

Solution 2

The second solution uses an algebraic approach.

Let n represent the total number of votes cast.

Since Freda received 60% of the total votes, she received 0.6× n or 0.6n votes.

Since Saheel received all of the remaining votes, he received 0.4× n or 0.4n votes.

We know that the di�erence between the number of votes received by Freda and

the number of votes received by Saheel was 28. So,

0.6n− 0.4n = 28

0.2n = 28
0.2n

0.2
=

28

0.2
n = 140

Therefore, there were 140 votes cast.
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Problème de la semaine

Problème C

Pensons aux produits

Trois cartes sont placées une à côté de l'autre sur une table. D'un côté de chaque
carte il y a une lettre, soit un R, un V ou un B, et de l'autre côté, un nombre
positif. Les nombres sur les cartes sont cachés. Voici ce que l'on sait déjà au sujet
des nombres cachés:

(i) le produit du nombre sur la carte R et du nombre sur la carte V est égal au
nombre sur la carte B;

(ii) le produit du nombre sur la carte V et du nombre sur la carte B est 180; et

(iii) cinq fois le nombre sur la carte B est égal au nombre sur la carte V.

Détermine le produit des nombres sur les trois cartes.

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Thinking About Products

Problem

Three cards are lined up on a table. Each card has a letter printed on one side and a positive number

printed on the other side. One card has an R printed on it, one card has a G printed on it, and one

card has a B printed on it. The number side of each card is facedown on the table. The product of the

number on the card with an R and the number on the card with a G equals the number on the card

with a B. The product of the number on the card with a G and the number on the card with a B is

180. And, �ve times the number on the card with a B equals the number on the card with a G.

Determine the product of the numbers on the three cards.

Solution

Solution 1

Let the three numbers be represented by r, g, and b.

Since the product of the number on the card with an R and the number on the card with a G

equals the number on the card with a B, r × g = b. We are looking for

r × g × b = (r × g)× b = (b)× b = b2. So when we �nd b2 we have found the required product

r × g × b.

We are also given that that g × b = 180 and g = 5× b, so g × b = 180 becomes

(5× b)× b = 180 or 5× b2 = 180. Dividing by 5, we obtain b2 = 36. This is exactly what we

are looking for since r × g × b = b2. Therefore, the product of the three numbers is 36.

For those who need to know what the actual numbers are, we can proceed and �nd the three

numbers. We know b2 = 36, so b = 6 since b is a positive number. Therefore,

g = 5× b = 5× 6 = 30. And �nally, r × g = b so r × (30) = 6. Dividing by 30, we get

r = 6
30

= 1
5
. We can verify the product r × g × b = (1

5
)× (30)× (6) = 6× 6 = 36.

Solution 2

In this solution we will try to �nd the numbers by working with the factors of 180.

The product of the number on the card with a G and the number on the card with a B is 180

and the number on the card with a G is �ve times the number on the card with a B. The

number 180 can be written as 2× 2× 3× 3× 5. By playing with the factors, we can get the

number on the card with a G is 5× 2× 3 and the number on the card with a B is 2× 3. That is,
the number on the card with a G could be 30 and the number on the card with a B could be 6.

Now using the fact that the number on the card with an R times the number on the card with

a G is equal to the number on the card with a B, we see that some number times 30 equals 6

and it follows that the number on the card with an R would be 6÷ 30 = 1
5
.

The product of the three numbers is 1
5
× 30× 6 = 6× 6 = 36.

This solution only works because the number on the card with a G and the number on the

card with a B happen to be integers.
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Problème de la semaine

Problème C

Douze à la perfection!

Douze rectangles identiques sont arrangés de façon à créer le rectangle PQRS,

comme le démontre le diagramme ci-haut.

Si l'aire du rectangle PQRS est 540 cm2, détermine les dimensions des petits

rectangles.

Thèmes Algèbre, Géométrie



Problem of the Week

Problem C and Solution

A Perfect Dozen

Problem

Twelve identical rectangles are arranged as shown in the diagram above to form a large

rectangle PQRS. If the area of rectangle PQRS is 540 cm2, determine the dimensions of the

smaller rectangles.

Solution

Solution 1

Let x be the width of one of the smaller identical rectangles, in cm. Five of the
smaller rectangles are stacked on top of each other creating PS, so
PS = x+ x+ x+ x+ x = 5x. Since PQRS is a rectangle, PS = QR = 5x. But
5x then also is the length of a smaller rectangle. Therefore, a smaller rectangle is
5x cm by x cm. This information is all marked on the following diagram.

The area of rectangle PQRS is the same as 12 times the area of one of the
smaller rectangles.

Area PQRS = 12× Area of one smaller rectangle

540 = 12× 5x× x

540 = 60× x2

Dividing both sides by 60, we obtain x2 = 9 and x = 3 follows. (x > 0 since x is
the width of a smaller rectangle.)

The width of a smaller rectangle is x = 3 cm and the length of a smaller
rectangle is 5x = 5(3) = 15 cm.

Therefore, the smaller rectangles are each 15 cm long and 3 cm wide.



Solution 2

Let x be the width of one of the smaller identical rectangles, in cm. Five
rectangles are stacked on top of each other creating PS, so
PS = x+ x+ x+ x+ x = 5x.

Also PQRS is a rectangle so QR = PS = 5x and 5x is also the length of a
smaller rectangle.

Now SR is made up of the lengths of two of the smaller rectangles plus the
widths of two of the smaller rectangles. Therefore, SR = 5x+ 5x+ x+ x = 12x
and rectangle PQRS is 12x cm long and 5x cm wide.

To �nd the area of PQRS we multiply the length SR by the width QR.

Area PQRS = SR×QR

540 = (12x)× (5x)

540 = 12× 5× x× x

540 = 60× x2

Dividing by 60, we obtain x2 = 9 and x = 3 follows. (x > 0 since x is the width
of a smaller rectangle.)

The width of a smaller rectangle is x = 3 cm and the length of a smaller
rectangle is 5x = 5(3) = 15 cm.

Therefore, the smaller rectangles are each 15 cm long and 3 cm wide.
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Problème de la semaine

Problème C

Emplacement, emplacement, emplacement

En commençant avec le numéro 2, nous allons placer les nombres entiers dans le
tableau suivant comme suit.

U V W X Y

Rangée 1 2 3 4

Rangée 2 7 6 5

Rangée 3 8 9 10

Rangée 4 13 12 11

Rangée 5 14 15 16

Rangée 6 19 18 17

La régularité continue. Chaque nouvelle rangée contient les trois prochains
nombres entiers, dans le sens opposé de ceux de la rangée précédente, et avec le
plus petit des trois entiers dans la colonne W .

Détermine la position exacte du nombre entier 2020. Indique le numéro de la
rangée et la lettre de la colonne. (U, V,W,X, Y ).

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Location, Location, Location

Problem

Starting with 2, we will place the integers as shown in the following chart.

U V W X Y
Row 1 2 3 4

Row 2 7 6 5

Row 3 8 9 10

Row 4 13 12 11

Row 5 14 15 16

Row 6 19 18 17

The pattern continues. Each new row lists the next three integers, in the direction opposite to
the row above, and with the smallest of the three integers in column W .

Determine the exact location of the integer 2020. State the row number and the column letter
(U, V,W,X, Y ).

Solution

Observe some of the patterns in the chart. (There are many more patterns than
the ones listed below.)

Each row contains a multiple of three in either column V or column X. Even
multiples of three are in column V and odd multiples of three are in column X.
To determine the row number, take the multiple of three and divide it by 3.

The outer numbers in column U or column Y have a remainder 1 when divided
by 3. Numbers that are even and have a remainder 1 when divided by 3 are in
column Y . Numbers that are odd and have a remainder 1 when divided by 3 are
in column U . If the largest number in a row is even, it is in column Y . If the
largest number in a row is odd, it is in column U .

Every number in column W has a remainder 2 when divided by 3.

When 2020 is divided by 3, there is a quotient of 673 and a remainder 1. So 2020
is in column U or Y but since 2020 is even, it is in column Y . The 673rd multiple
of 3, which is 2019, is in row 673, in column X, to the left of 2020. In fact, row
673 will contain 2018 in column W ; 2019, the 673rd multiple of 3, in column X;
and 2020 in column Y . Therefore, the number 2020 is located in row 673, column
Y .
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Problème de la semaine

Problème C

Accumuler de la monnaie

Joanie P. Sauvé conserve des pièces de 25 cents, de 1$ et de 2$ dans sa tirelire

depuis longtemps. Elle ne possède aucun autre type de pièces de monnaie dans sa

tirelire. Un tiers de ses pièces de monnaie sont des 25 cents et un cinquième sont

des pièces de 1$. Il y a 56 pièces de 2$ dans sa tirelire.

Détermine la somme d'argent qu'elle possède dans sa tirelire.

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Accumulating Change

Problem

Penny Saver has been saving quarters, loonies and toonies in her coin bank for a long time. No
other types of coins are in her bank. One third of the coins in the bank are quarters and one
�fth of the coins are loonies. There are 56 toonies in the bank. Determine how much money
Penny has saved in her coin bank.

Solution

Solution 1

One of the key sentences in the problem is �No other types of coins are in her bank.� Using the
fractions given, it will be possible to determine what fraction of the whole is made up by
toonies.

The fraction of toonies in the bank = 1− 1

3
− 1

5
=

15

15
− 5

15
− 3

15
=

7

15
.

We can now determine the total number of coins in the bank. Since 56 toonies are in the bank
and 7

15
of the coins are toonies,

7

15
of the coins in the bank = 56 coins.

Dividing by 7,
1

15
of the coins in the bank = 56÷ 7 = 8 coins.

Multiplying by 15,
15

15
of the coins in the bank = 8× 15 = 120 coins.

There are 120 coins in the bank. We can now determine the number of quarters and loonies.

The number of quarters =
1

3
× 120 = 40 and the number of loonies =

1

5
× 120 = 24.

To determine the amount of money in the bank, we multiply the value of a particular coin by
the quantity of that coin and add the three values together.

Amount in the Bank = Value of Quarters+ Value of Loonies+ Value of Toonies

= $0.25× 40 + $1.00× 24 + $2× 56

= $10.00 + $24.00 + $112.00

= $146.00

Therefore, Penny has a total of $146 in her bank.

A second solution, using equations, is found on the next page.



Solution 2

Let C represent the number of coins in the bank.

Then 1
3
C is the number of quarters in the bank and 1

5
C is the number of loonies in the bank.

It follows that C − 1
3
C − 1

5
C = 15

15
C − 5

15
C − 3

15
C = 7

15
C is the number of toonies in the bank.

But there are 56 toonies in the bank, so

7

15
C = 56

1

15
C = 8 (after dividing both sides by 7)

C = 120 (after multiplying both sides by 15)

There are 120 coins in the bank.

Then 1
3
× 120 = 40 coins are quarters and 1

5
× 120 = 24 coins are loonies.

To determine the amount of money in the bank, we multiply the value of a particular coin by
the quantity of that coin and add the three values together.

Amount in the Bank = Value of Quarters+ Value of Loonies+ Value of Toonies

= $0.25× 40 + $1.00× 24 + $2× 56

= $10.00 + $24.00 + $112.00

= $146.00

Therefore, Penny has a total of $146 in her bank.
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Problème de la semaine

Problème C

Peux-tu la construire?

Deux élèves construisent des boîtes dans leur cours de menuiserie. Le premier
élève construit une boîte cubique dont les côtés mesurent 60 cm. Le deuxième
élève construit une boîte en forme de prisme rectangulaire dont la longueur
mesure l cm, la hauteur mesure 30 cm et la largeur mesure 45 cm.

Étonnamment, les deux boîtes ont la même aire totale.

Détermine quelle boîte possède un plus grand volume? Par combien le volume de
cette boîte est-il plus grand que l'autre?

Thèmes Algèbre, Géométrie



Problem of the Week

Problem C and Solution

Can You Build It?

Problem

Two students are building storage boxes in woodworking class. The �rst student builds a box

in the form of a cube with each edge measuring 60 cm. The second student builds a box in the

shape of a rectangular prism with width w cm, height 30 cm and depth 45 cm. Surprisingly,

each student's box has the same total surface area. Determine which student's box has the

greatest volume. How much greater is the volume?

Solution

To �nd the total surface area of a cube, determine the area of one side and multiply by 6.

Therefore, the total surface area of the cube-shaped box is 6× 60× 60 = 21 600 cm2.

To �nd the total surface area of the rectangular prism, determine the sum of the areas of the

six sides. The front side and the back side have equal areas. The top and the bottom have

equal areas. Each of the remaining two sides have equal area. Therefore, the total surface area

of the rectangular prism box is

2× area of front+ 2× area of top+ 2× area of side

= 2× 30× w + 2× 45× w + 2× 30× 45

= 60w + 90w + 2700

= 150w + 2700

But the total surface area of the cube-shaped box is the same as the total surface area of the

rectangular prism. So,

21 600 = 150w + 2700

21 600− 2700 = 150w + 2700− 2700

18 900 = 150w
18 900

150
=

150w

150
126 = w

Therefore, the width of the rectangular prism is 126 cm.

To �nd the volume of a cube, �cube� the edge length. So, the volume of the cube is

60× 60× 60 = 603 = 216 000 cm3.

To �nd the volume of the rectangular prism, multiply the three di�erent edge lengths. So, the

volume of the rectangular prism is 126× 45× 30 = 170 100 cm3.

Therefore, the student who is building the cube has the box with the greater volume. The

volume of the cube is greater by 216 000− 170 100 = 45 900 cm3.
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Problème de la semaine

Problème C

Un peu de tout

Si tu énumérais les nombres entiers de 1 à 12, tu obtiendrais cette liste.

1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12.

Si tu additionnais les chi�res de cette liste, tu obtiendrais cette somme.

1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 + (1 + 0) + (1 + 1) + (1 + 2) = 51.

Voici les nombres entiers de 1 à 100. Peux-tu trouver la somme de tous les

chi�res de ces nombres?

1 2 3 4 5 6 7 8 9 10

11 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 37 38 39 40

41 42 43 44 45 46 47 48 49 50

51 52 53 54 55 56 57 58 59 60

61 62 63 64 65 66 67 68 69 70

71 72 73 74 75 76 77 78 79 80

81 82 83 84 85 86 87 88 89 90

91 92 93 94 95 96 97 98 99 100

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

Sum of Everything

Problem

If you were to list the integers from 1 to 12, you would

get the list 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12.
If you were to sum the digits of the integers in this list,

you would get the sum
1+2+3+4+5+6+7+8+9+(1+0)+(1+1)+(1+2) = 51.

To the right are the integers from 1 to 100. Can you

�nd the sum of all of the digits of these numbers?

1 2 3 4 5 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
31 32 33 34 35 36 37 38 39 40
41 42 43 44 45 46 47 48 49 50
51 52 53 54 55 56 57 58 59 60
61 62 63 64 65 66 67 68 69 70
71 72 73 74 75 76 77 78 79 80
81 82 83 84 85 86 87 88 89 90
91 92 93 94 95 96 97 98 99 100

Solution

(1) In the table above, each of the ten columns has a units digit that occurs ten
times. So the sum of ALL of the units digits is
10(1)+10(2)+10(3)+10(4)+10(5)+10(6)+10(7)+10(8)+10(9)+10(0)

= 10(1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 + 0)
= 10(45)
= 450

(2) Each of the ten columns has a tens digit from 0 to 9. So the sum of ALL of
the tens digits is
10(0 + 1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9)
= 10(45)
= 450

(3) The number 100 is the only number with a hundreds digit. We need to add
1 to our �nal sum.

(4) Now we add our results from (1), (2), and (3) to obtain the required sum.

Sum of digits = Units digit sum + Tens digit sum + Hundreds Digit

= 450 + 450 + 1

= 901

Therefore, the sum of all of the digits of the numbers from 1 to 100 is 901.
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Problème de la semaine

Problème C

Quel dégât!

En regardant dans son ancien cahier de mathématiques, Jing voit le dégât
suivant sur une des pages:

La so
mme est

 

divisib
le pa

r 

trois

2 4

+ 3 2 9

5 3

Le chi�re du milieu des nombres en-haut et en-bas ont chacun été tachés et ne
sont plus lisibles. À côté du problème, la note suivante est écrite : � La somme est
divisible par trois.�

Si le chi�re manquant du nombre en-haut est A et le chi�re manquant du nombre
en-bas est B, détermine les valeurs possibles de A et B.

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

What a Mess!

Problem

Jing was looking through an old math notebook and found the following question on one of the

pages. The middle digit of the top and bottom numbers were both smudged and unreadable.

Beside the question there was a handwritten note which read: �The sum is divisible by three.�

If the missing middle digit in the top number is A and the missing middle digit in the bottom

number is B, determine all possible values for A and B.

2 A 4
+ 3 2 9

5 B 3

Solution

Solution 1

First we �nd the possible values of B. For a number to be divisible by 3, the sum

of its digits must be divisible by 3. So 5 +B + 3 must be divisible by 3. The only

possible values for B are thus 1, 4, or 7.

We know that 2A4 + 329 = 5B3 so 2A4 = 5B3− 329.

We can try each of the possible values for B in the equation 2A4 = 5B3− 329 to

�nd values of A that make the equation true.

1. If B = 1, then 513− 329 = 184, which cannot equal 2A4. So when B = 1
there is no A to satisfy the problem.

2. If B = 4, then 543− 329 = 214, which does equal 2A4 when A = 1. So for

A = 1 and B = 4 there is a valid solution.

3. If B = 7, then 573− 329 = 244, which does equal 2A4 when A = 4. So for

A = 4 and B = 7 there is a valid solution.

Therefore, when A = 1 and B = 4 or when A = 4 and B = 7, the given problem

has a valid solution.



Solution 2

2 A 4
+ 3 2 9

5 B 3

When the digits in the unit's column are added together, there is one carried to

the ten's column. When the digits in the hundred's column are added together

we get 2 + 3 = 5 so there is no carry from the ten's column. Therefore, when the

ten's column is added we get 1 + A+ 2 = B or A+ 3 = B.

We can now look at all possible values for A that produce a single digit value for

B in the number 5B3. We can then determine whether or not 5B3 is divisible by

3.

The following table summarizes the results.

A B = A+ 3 5B3 Divisible by 3 (yes/no)?

0 3 533 no

1 4 543 yes

2 5 553 no

3 6 563 no

4 7 573 yes

5 8 583 no

6 9 593 no

Therefore, when A = 1 and B = 4 or when A = 4 and B = 7, the given problem

has a valid solution.
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Problème de la semaine

Problème C

Nous avons pris les biscuits

Une jarre à biscuits contient un certain nombre de biscuits. Trois amis se

partagent les biscuits comme suit. En premier, Harold place les biscuits en trois

piles égales, sans reste. Puis, il garde une des piles pour lui-même et remet les

deux autres piles dans la jarre. Ensuite, Lucie prend les biscuits restants dans la

jarre et les place en trois piles égales, sans reste. Elle prend une des piles et remet

les deux autres dans la jarre. Finalement, Livio prend les biscuits restants dans la

jarre, les sépare en trois pile égales, mais il reste un biscuit. Il garde le biscuit

restant ainsi qu'une des piles et remet les deux autres piles dans la jarre.

S'il reste maintenant 10 biscuits dans la jarre, combien de biscuits y avait-il dans

la jarre à biscuits au début?

Thèmes Algèbre, Sens du nombre



Problem of the Week

Problem C and Solution

We Took the Cookies

Problem

There is a cookie jar that contains a certain number of cookies. Three friends divide the

cookies in the following way. First, Harold takes all of the cookies and places them into three

equal piles with none left over. He then keeps one of the piles and puts the other two piles back

into the jar. Next, Lucie takes the remaining cookies in the jar and places them into three

equal piles with none left over. She then keeps one of the piles and puts the other two piles

back into the jar. Finally, Livio takes the remaining cookies in the jar and places them into

three equal piles, but there is one cookie left over. He then keeps the leftover cookie and one of

the piles and puts the other two piles back into the jar. If there are now 10 cookies in the jar,

how many cookies were originally in the cookie jar?

Solution

We will present two di�erent solutions. Solution 1 works backwards through the

problem. Solution 2 is an algebraic solution.

Solution 1

The last 10 cookies in the cookie jar are also the remaining two of Livio's three

piles. Therefore, each pile he made had 10÷ 2 = 5 cookies. Therefore, there were

5× 3 = 15 cookies in the three piles he made plus 1 more cookie that he kept, for

a total of 16 cookies. Therefore, there were 16 cookies in the cookie jar when

Livio started dividing the cookies.

These 16 cookies were two of the three piles that Lucie made. Therefore, each

pile that she made had 16÷ 2 = 8 cookies. Therefore, there were 8× 3 = 24
cookies in the three piles that she made. Therefore, there were 24 cookies in the

cookie jar when Lucie started dividing the cookies.

These 24 cookies were two of the three piles that Harold made. Therefore, each

pile that he made had 24÷ 2 = 12 cookies. Therefore, there were 12× 3 = 36
cookies in the three piles that he made. Therefore, there were 36 cookies in the

cookie jar when Harold started dividing the cookies.

Therefore, there were originally 36 cookies in the cookie jar.



Solution 2

Let the initial number of cookies in the cookie jar be C.

Harold has 1
3C cookies in the pile he keeps. Therefore, 2

3C cookies are left for

Lucie.

Lucie keeps 1
3 of 2

3C cookies. Therefore, 2
3 of 2

3C cookies are left for Livio. That

is, 2
3 ×

2
3C = 4

9C cookies are left for Livio.

For Livio, the pile he keeps is 1
3 of one less than what is left. That is

1
3 ×

(
4
9C − 1

)
, and so the remaining number of cookies that he puts back into the

cookie jar is equal to 2
3 ×

(
4
9C − 1

)
.

This is also equal to 10. That is,

2

3
×

(
4

9
C − 1

)
= 10

Dividing both sides by 2
3 ,

2
3 ×

(
4
9C − 1

)
2
3

=
10
2
3

Since 10÷ 2
3 = 10× 3

2 =
30
2 = 15,

4

9
C − 1 = 15

Therefore,
4

9
C = 16

Dividing both sides by 4
9 ,

4
9C
4
9

=
16
4
9

Since 16÷ 4
9 = 16× 9

4 = 36,
C = 36

Therefore, there were originally 36 cookies in the cookie jar.
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Problème de la semaine

Problème C

Jouons avec des disques

Un sac contient des disques circulaires. Dans le sac, il y a 5 disques bleus, 6
disques rouges, 3 disques verts et 2 disques jaunes. Plusieurs disques oranges sont
ajoutés au sac. À part leur couleur, tous les disques dans le sac sont identiques.

Un disque est choisi au hasard. La probabilité de choisir un disque bleu ou vert
est maintenant 2

7 .

Combien de disques oranges ont été ajoutés au sac?

Thèmes Algèbre, Gestion des données



Problem of the Week

Problem C and Solution

Playing with Disks

Problem

A bag contains circular disks. In the bag, there are 5 blue disks, 6 red disks, 3 green disks and

2 yellow disks. Several orange disks are added to the bag. All the disks in the bag are identical

except for colour. A disk is now randomly selected from the bag. The probability of a blue or

green disk being selected is now 2
7
. How many orange disks were added to the bag?

Solution

Solution 1

At present there are 5 + 6 + 3 + 2 = 16 disks in the bag. Since, after adding some orange disks

to the bag, the probability of picking a blue or green disk is 2
7
, this implies that the new total

number of disks in the bag is a multiple of 7 and this multiple must be greater than 16.

Therefore, there are possibly 21, 28, 35, 42, 49, 56, · · · disks in the bag.

The number of blue and green disks in the bag is 5 + 3 = 8. If k is the total number of disks in

the bag after adding some orange disks, then 8
k
= 2

7
but 2

7
= 8

28
so 8

k
= 8

28
and k = 28 follows.

Since there were 16 disks in the bag and there are now 28 disks in the bag, then 28− 16 = 12
orange disks were added to the bag.

Therefore, 12 orange disks were added to the bag.

Solution 2

Let w be the number of orange disks added to the bag.

There are now 5 + 6 + 3 + 2 + w = 16 + w disks in the bag. The number of blue and green

disks in the bag is 5 + 3 = 8. We know that the number of blue and green disks divided by the

total number of disks in the bag is 2
7
, so 8

16+w
= 2

7
.

If we multiply the numerator and denominator of the fraction 2
7
by 4, we obtain 2

7
= 2×4

7×4
= 8

28
,

which has the same numerator as the fraction 8
16+w

.

Since the fractions are equal and the numerators are equal, the denominators must also be

equal. It follows that 16 + w = 28 and w = 12.

Therefore, 12 orange disks were added to the bag.
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Problème de la semaine

Problème C

Occasion manquée

Une classe de 30 élèves est allée à un centre de la nature pour une sortie

éducative. Au courant de la journée, deux ateliers étaient o�erts: �Connaître les

oiseaux� et �Les animaux qui nous entourent�. Douze élèves ont participé à

l'atelier sur les oiseaux. Dix-sept élèves ont participé à l'atelier �Les animaux qui

nous entourent�. Cinq élèves ont participés aux deux ateliers. Certains n'ont

participé à aucun atelier.

Combien d'élèves n'ont pas eu la chance d'assister à un atelier?

Thèmes Gestion des données, Sens du nombre



Problem of the Week

Problem C and Solution

Missed Out

Problem

A class of 30 students went on a �eld trip to a nature centre. Throughout the day, two

di�erent workshops were o�ered: �Know Your Birds� and �Animals Around Us�. Twelve of the

students attended the workshop about birds. Seventeen of the students attended the �Animals

Around Us� workshop. Five students attended both workshops. Some students did not attend

any of the workshops. How many students missed out by not attending any workshop during

the �eld trip?

Solution

Since 5 students attended both workshops and these students are included in the

12 who attended the �Know Your Birds� workshop, then 12− 5 or 7 students

attended only the �Know Your Birds� workshop. They did not attend the

�Animals Around Us� ' workshop.

Again, since 5 students attended both workshops and these students are included

in the 17 who attended the �Animals Around Us� workshop, then 17− 5 or 12
students attended only the �Animals Around Us� workshop. They did not attend

the �Know Your Birds� workshop as well.

Students will be in exactly one of four possible groups: they attended both

workshops, they attended the �Know Your Birds� workshop only, they attended

the �Animals Around Us� workshop only, or they did not attend either workshop.

The number of students in each possible group added together will sum to the

total number of students in the class. Or we could subtract the known sizes of

the groups from the total class size to determine the number of students who did

not attend either workshop.

So, the number of students who did not attend either workshop is equal to the

number of students in the class minus the number of students who attended both

workshops minus the number of students attended only the �Know Your Birds�

workshop minus the number of students who attended only the �Animals Around

Us� workshop. Therefore, the number of students who did not attend either

workshop is equal to 30− 5− 7− 12 = 6.

Therefore, 6 students missed out on the opportunity to learn from the workshop

leaders.
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Problème de la semaine

Problème C

Comment ne pas aimer?

En début d'année scolaire, les élèves de la classe de M. Pi ont répondu à la

question suivante : �Aimes-tu les maths?�. Ils pouvaient seulement répondre �oui�

ou �non� et tout le monde devait répondre. Parmi les 30 élèves de la classe, 21 ont

répondu �oui� et 9 ont répondu �non�.

Pendant cette journée, la probabilité de choisir au hasard un élève qui a répondu

�oui� était 21
30 =

7
10 et la probabilité de choisir au hasard un élève qui a répondu

�non� était 9
30 =

3
10 .

Cependant, un certain matin plus tard dans l'année, l'information suivante est

connue à propos de la classe :

� au moins un élève qui a répondu �oui� était absent et au moins un élève qui

a répondu �non � était absent;

� plus de la moitié de la classe était présente; et

� la probabilité de choisir au hasard un élève qui a répondu �oui� était 3
4 .

Avons-nous assez d'information pour déterminer le nombre d'élèves absents ce

matin-là? Si oui, combien d'élèves étaient absents? Sinon, explique pourquoi.

Thèmes Gestion des données, Sens du nombre



Problem of the Week

Problem C and Solution

What's Not to Love?

Problem

At the start of the school year, students in Mr. Pi's class were asked the following question: �Do you
love Math?� They were only allowed to answer �yes� or �no�, and everyone had to answer. Of the 30
students in the class, 21 answered �yes� and 9 answered �no�. So, with every student present, the
probability of randomly selecting a student who answered the question �yes� was 21

30 = 7
10 and the

probability of randomly selecting a student who answered the question �no� was 9
30 = 3

10 .

However, on one particular morning later in the year, the following information was known about the
class: at least one of the students who had answered �yes� was absent and at least one of the students
who had answered �no� was absent; more than half of the class was present; and the probability of
randomly selecting a student who had answered the question �yes� was 3

4 .

Is there enough information to determine how many students were absent that particular morning? If
yes, how many students were absent? If no, explain why not.

Solution

Since at least one student from each of the two groups was absent, there were at least 2

students absent and at most 28 students present. Also, the maximum number of students who

said �yes� would be 21− 1 = 20 and the maximum number of students who said �no� would be

9− 1 = 8. More than half the class was present so at least 16 students were present.

Since the probability of randomly selecting a student who answered �yes� was 3
4
, then the

probability of randomly selecting a student who answered �no� was 1
4
.

We are looking for any number from 16 to 28 which is divisible by 4, so that when we �nd 3
4

and 1
4
of this number our result is a whole number. The numbers from 16 to 28 that are

divisible by 4 are 16, 20, 24 and 28.

The following chart shows the results which are possible using the given information. There are

3 valid solutions that satisfy the given information. Therefore, there is not enough given

information to determine the number of students who were absent that particular morning.

The last solution in the chart in not valid. If the number present was 28, then 21 of those

present would have answered the question �yes�. But at least one student who answered �yes�

was absent so the maximum number of students who answered �yes� would have been 20.

Number Present Number Absent Number who said �yes� Number who said �no� Valid / Not Valid

16 30− 16 = 14 3
4 × 16 = 12 1

4 × 16 = 4 Valid

20 30− 20 = 10 3
4 × 20 = 15 1

4 × 20 = 5 Valid

24 30− 24 = 6 3
4 × 24 = 18 1

4 × 24 = 6 Valid

28 30− 28 = 2 3
4 × 28 = 21 1

4 × 28 = 7 Not Valid

To Think About: Is there another piece of information that Mr. Pi could have provided so

that two of the three valid answers could be eliminated leaving only one valid answer?
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Problème de la semaine
Problème C

Des boîtes de hamburgers

Au restaurant local de hamburgers, Patty prépare toujours un ham-
burger à la fois. Après avoir fait cuire un hamburger, elle le place
dans une des trois boîtes suivantes: une avec des points, une avec
des lignes ou une qui est blanche. Elle met le premier hamburger
dans une boîte avec des points et place la boîte sur le dessus d’une
pile. Ensuite, elle place le deuxième hamburger dans une boîte avec
des lignes et le met sur le dessus de la pile. Finalement, Patty place
le dernier hamburger dans une boîte blanche et le met sur le des-
sus de la pile. Si elle prépare trois hamburgers, elle aurait une pile
comme celle de l’image 1.

Image 1

Patty répète cette régularité. Lorsqu’un hamburger est prêt, elle le
place dans une boîte, place la boîte sur la pile de hamburgers qu’il
reste à vendre et continue à faire le cycle des trois boîtes (points,
lignes, blanche, points, lignes, blanche,...). Si elle prépare deux
autres hamburgers, elle aurait une pile comme celle de l’image 2.

En même temps, Tom vend les hamburgers, un par un, et prend la
boîte du dessus de la pile. Patty prépare les hamburgers plus vite
que Tom les vend.

Image 2

Un jour, alors que Patty préparait des hamburgers et Tom vendait
des hamburgers, la pile de hamburgers prêts à vendre ressemble à
celle de l’image 3. Quel est le plus petit nombre possible de ham-
burgers vendus par Tom? Explique ta réponse.

Image 3

Thèmes Algèbre, Pensée computationnelle



Problem of the Week

Problem C and Solution

Burger Boxes

Problem
At the local burger restaurant, Patty always cooks burgers one at a time. After cooking a
burger, she places it into one of three di�erent boxes: one with dots, one with stripes, and one
plain box. If she has cooked three burgers, she would have a stack as shown in Image 1. Patty
then repeats the pattern of placing the burgers in boxes. As she cooks a burger, she places that
box on the top of the stack of not yet sold burgers, and continues to cycle through the three
di�erent boxes (dot, stripe, plain, dot, stripe, plain, ...) into which to place the burger. If she
cooked two more burgers, she would have a stack as shown in Image 2. At the same time, Tom
sell burgers one at a time and always takes the uppermost box from the stack. Patty cooks
faster than Tom can sell the burgers. Shortly into a new shift, Patty has cooked some burgers
and Tom has sold some burgers. The stack of unsold burgers looks like the stack in Image 3.
What is the fewest number of burgers sold by Tom? Explain your answer.

Image 1

Image 2

Image 3
Solution

Consider labelling the boxes as D (for dotted), S (for striped) and P (for plain, meaning no
dots or stripes). So, we want to get a sequence that looks like: D,D, P,D, S, P, S, P where the
leftmost boxes are at the bottom of the stack, and the rightmost boxes are at the top.

If no burgers were sold at all, we would have the sequence: D,S, P,D, S, P,D, S, P,D, S, P, . . .

Notice that if we sell the burgers that are bolded as shown in the sequence:
D,S,P, D,S, P,D, S, P,D, S, P, we have the sequence: D,D, P,D, S, P, S, P . This is the
sequence that we are looking for. We can think of each bolded term as a burger being sold.
The minimum number of boxes between the �rst two Ds is 2 (S, P ). The minimum number of
boxes between D and P is 1 (S). The minimum number boxes between the P and S is 1 (D).
Therefore, the least amount of burgers sold is 2 + 1 + 1 = 4.



The Beaver Computing Challenge (BCC):

This problem is based on a previous BCC problem. The BCC is designed to get students with
little or no previous experience excited about computing. Questions are inspired by topics in
computer science and connections to Computer Science are described in the solutions to all past
BCC problems. If you enjoyed this problem, you may want to explore the BCC contest further.

Connections to Computer Science:

Computer scientists are concerned about how to e�ciently store information. For certain
problems, the best way to store information is in a data structure called a stack. A stack is a
data structure that imposes the following rule about accessing data:

� new items can be put on the top of the stack (to become the new top of the stack): this
is called pushing the element onto the stack

� items that are to be removed are removed from the top of the stack (making the element
just below the top the new top of the stack): this is called popping the stack

Stacks are used for a variety of problem solving techniques, and perhaps the easiest one to
visualize is the balanced parentheses problem. You would like to verify that some
mathematical expression involving parentheses is valid. So (1+1), is valid, ((2+3)*(1+1)) is
valid and so on. Ignoring any of the numbers or operators, we can ensure that we have a valid
sequence of parentheses by the following simple process:

� read the mathematical expression from left-to-right;

� if we see (, push ( onto the stack;

� if we see ), pop the top ( symbol from the stack;

� if we try to pop an empty stack, i.e., a stack without anything on it, the sequence is
invalid;

� if we read the entire mathematical expression and the stack is not empty, the sequence is
invalid;

� otherwise, the sequence is valid.

You can verify that the sequences above are veri�ed by this algorithm, and that sequences like

(((1+1) and )()()( would be correctly determined to be invalid by this algorithm.
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Problème de la semaine
Problème C

Complet à 15

Le jeu “Complet à 15” se joue à deux joueurs. Le plateau de jeu consiste en 9
cercles, démontrés ci-dessous.

Les joueurs jouent à tour de rôle en plaçant des disques numérotés de 1 à 9 dans
les cercles. Chaque nombre ne peut être utilisé qu’une seule fois. L’objectif du jeu
est d’être le premier joueur à placer un disque qui fait que la somme des trois
disques sur une ligne passant par le centre soit exactement 15.

Alexandra et Blake jouent le jeu. Alexandra prend le premier tour. Elle place un
6 dans le centre. Ceci est démontré dans le diagramme ci-dessous.

Ensuite Blake place un des 8 nombres restants dans un des cercles vides.

Prouve que peu importe le cercle dans lequel Blake a placé son disque, Alexandra
peut gagner le jeu lors de son prochain tour.

Thèmes Pensée computationnelle, Sens du nombre



Problem of the Week

Problem C and Solution

Fill to 15

Problem

The game, �Fill to 15�, is a two-player game. The game board consists of 9 circles as shown in the

diagram above. The players alternate turns placing discs numbered 1 to 9 in the circles on the board.

Each number can only be used once in any game. The object of the game is to be the �rst player to

place a disc so that the sum of the 3 numbers along a line through the centre circle is exactly 15. Alex

and Blake play the game. Alex goes �rst. On her �rst move, Alex places a 6 in the centre circle. Then

Blake places one of the eight remaining numbers in one of the empty circles on her �rst turn. Show

that no matter which numbers Blake plays, Alex can win the game on either her second or third turn.

Solution

Since Alex played a 6 on her �rst turn, the other two discs in the line would need to add to 9
to make the total 15.

If, on her �rst turn, Blake plays one of the numbers 1, 2, 4, 5, 7 or 8, then
there is an unused number that Alex can play on her second turn so that
the sum of the line is 15. That is, if Blake plays a 1, then Alex will play an
8. (This is illustrated on the diagram to the right.) If Blake plays a 2, then
Alex will play a 7. If Blake plays a 4, then Alex will play a 5. If Blake plays
a 5, then Alex will play a 4. If Blake plays a 7, then Alex will play a 2. And
if Blake plays an 8, then Alex will play a 1. In each of these 6 instances Alex
can win on her second turn.

If, on her �rst turn, Blake places a 3 in any empty space, then the sum of
the two discs in that line will be 9. Alex cannot win on her second turn
since the only way to make the sum in that line 15 would be for her to play
another 6. No number may be used more than once so this is not possible.
However, if Alex completes the line by playing a 9 on her second turn, then
the remaining discs will have numbers 1, 2, 4, 5, 7 and 8. Then, as we
saw above, no matter what Blake plays on her second turn, there will be a
number that Alex can place on that line so that the three numbers in the
line add to 15. An example is illustrated in the diagram to the right.

Finally, if on her �rst turn, Blake places a 9 in any empty space, then the
sum of the two discs on the line will already be 15 using just 2 discs. Alex
cannot win on her second turn since playing any other disc in that line
would make the sum greater than 15. However, if Alex completes the line by
playing a 3 on her second turn, then the remaining discs will have numbers
1, 2, 4, 5, 7 and 8. Then, as we saw above, no matter what Blake plays next,
there will be a number that Alex can place on that line so that the three
numbers in the line add to 15. An example is illustrated in the diagram to
the right.

Therefore, we have shown that no matter which numbers Blake plays, Alex can win the game
on either her second or third turn.
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Problème de la semaine
Problème C

La course à chapeau

Francis, Chrystal et Samuelle viennent juste de participer à la 10e édition
annuelle de la course de toboggan du PDLS.

Francis, Chrystal et Samuelle ont chacun fini en première, deuxième ou troisième
place. Il n’y avait pas d’égalité.

Chaque participant portait un chapeau de couleurs différentes. Un participant
avait un chapeau rouge, un autre avait un chapeau vert et le dernier avait un
chapeau violet.

Utilise les indices suivants pour déterminer qui a fini en quelle position et la
couleur du chapeau de chaque participant.
1. Chrystal était plus rapide que Samuelle.
2. Samuelle ne portait pas le chapeau violet puisqu’elle n’aime pas le violet et

elle n’a pas fini avant Francis.
3. La personne qui portait le chapeau rouge était plus rapide que la personne

qui portait le chapeau vert.
4. Chrystal ne portait pas le chapeau rouge et Francis ne portait pas le

chapeau vert.
5. La personne qui a fini en première place ne portait pas le chapeau violet.

Le tableau suivant pourrait t’aider à organiser l’information de la question.
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Problem of the Week
Problem C and Solution

The Hat Race

Problem
Frankie, Chrystal, and Sam have just competed in the POTW’s 10th annual Toboggan Race.

Frankie, Chrystal, and Sam each finished in first, second, or third in the toboggan race. There
were no ties.

Each person also wore a different colour hat. One wore a red hat, one wore a green hat, and
one wore a purple hat.

Using the following clues, determine who placed first, second and third, and which hat each
person wore.

1. Chrystal was faster than Sam.
2. Sam did not wear the purple hat since she does not like purple and she did not finish

before Frankie.
3. The person who wore the red hat was faster than the person who wore the green hat.
4. Chrystal did not wear the red hat and Frankie did not wear the green hat.
5. The person who came in first did not wear the purple hat.

Solution
Answer
We will present the answer first for those who want to check their work. The solution that
follows represents one possible approach to arriving at a correct set of conclusions.

Frankie wore the red hat and finished in first.

Chrystal wore the purple hat and finished in second.

Sam wore the green hat and finished in third.

Solution
In our solution, we will we go through each clue and update the table based on the information
in the clue. We will put an X in a cell if the combination indicated by the row and column for
that cell is not possible, or a X if it must be true.

From clue (1), since Chrystal was faster than Sam,
we know that Sam could not have finished first and
that Chrystal did not finish third. We can
therefore put an X in the cells corresponding to
Sam in first and Chrystal in third.

From clue (2), we can put an X in the cells
corresponding to Sam wearing the purple hat and
also to Frankie finishing in third since Frankie
finished before Sam. The table is updated to the
right.
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Frankie X
Chrystal X
Sam X X
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From the previous table we see that neither
Frankie nor Chrystal finished third. Therefore,
Sam must have finished third. We can add a X to
the corresponding cell in the table.

Since Sam finished third, she could not have also
finished in second. So, we can add an X to the
corresponding cell in the table. The table is
updated to the right.
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Frankie X
Chrystal X
Sam X X X X
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Second
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From clue (3), we know that the person who wore
the green hat did not finish first and that the
person who wore the red hat did not finish third.
We can therefore put an X in the appropriate cells.

Since we now know that Sam came in third, this
clue also tells us that Sam is not the person who
wore the red hat. We can put an X in the
corresponding cell. The table is updated to the
right.
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From the previous table we see that Sam did not
wear the red hat or the purple hat. Therefore, Sam
must have worn the green hat.

Since Sam finished third, this also tells us that the
person wearing the green hat finished third.

We can add a X to the corresponding cells in the
table. The table is updated to the right.
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Since the people wear different hats, we now know
that Chrystal and Frankie did not wear the green
hat, and so we can add X’s to the corresponding
cells in the table.

Since we know that the person in the green hat
finished third, they also could not have finished
second. Similarly, the person in the purple hat
could not have finished third. We can add X’s to
the corresponding cells in the table.

The table is updated to the right.
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From clue (4), we can add an X to the cell
corresponding to Chrystal wearing the red hat.

We know that neither Chrystal nor Sam wore the
red hat. Therefore, Frankie must have worn the
red hat. Similarly, Chrystal did not wear the red
hat or the green hat. Therefore, Chrystal must
have worn the purple hat.

We can add the corresponding X’s and X’s. The
table is updated to the right.
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From clue (5), we know that the person who wore
the purple hat did not come in first. Since Chrystal
wore the purple hat, she did not come in first. This
means that she must have finished second and it
then follows that Frankie finished in first.

We can add the corresponding X’s and X’s. The
table is updated as shown to the right.
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Chrystal X X X X X X
Sam X X X X X X
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In the previous table the top three rows have been
completed. We can use this information to fill in
the four remaining empty cells in the bottom three
rows of the table.

The completed table is shown to the right.
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Frankie X X X X X X
Chrystal X X X X X X
Sam X X X X X X

First X X X
Second X X X
Third X X X

From the completed table, we see that:

Frankie wore the red hat and finished in first.

Chrystal wore the purple hat and finished in second.

Sam wore the green hat and finished in third.
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Problème de la semaine
Problème C

Changer des chiffres

Ali programme trois boutons d’une machine pour échanger la position des chiffres
d’un nombre à quatre chiffres.

Bouton rouge : échange le chiffre des milliers avec le chiffre des dizaines
Bouton bleu : échange le chiffre des milliers avec le chiffre des centaines
Bouton jaune : échange le chiffre des centaines avec le chiffre des unités

Ali tape un nombre à quatre chiffres dans la machine. Elle appuie ensuite sur la
séquence de boutons suivante et obtient le nombre 6943.

Rouge Jaune Bleu Rouge Jaune

Quel aurait été le résultat si Ali avait appuyé la séquence suivante après avoir
tapé le nombre original?

Bleu Rouge Jaune Bleu

5 6 7 8 9
0 1 2 3 4

Rouge Bleu

Jaune

Thème Pensée computationnelle



Problem of the Week

Problem C and Solution

Digit Swapping

Problem

5 6 7 8 9
0 1 2 3 4

Red Blue
Yellow

Ali programs three buttons in a machine to swap some digits in a 4-digit number.

Red button: swaps the thousands and tens digits
Blue button: swaps the thousands and hundreds digits
Yellow button: swaps the hundreds and units (ones) digits

Ali types a 4-digit number into the machine. She then presses the following sequence of
buttons to produce 6943 as the output.

Red Yellow Blue Red Yellow

What would the output have been if Ali had instead pressed the following sequence of buttons
after typing in her original number?

Blue Red Yellow Blue

Solution

First we need to know what number Ali initially typed into the machine in order

to produce 6943 as the output.

???? → Red Yellow Blue Red Yellow→ 6943

We can determine this by working backwards. This means we will start with

6943 and go through the sequence of buttons in the opposite order.

6943 → Yellow→ 6349

6349 → Red→ 4369

4369 → Blue→ 3469

3469 → Yellow→ 3964

3964 → Red→ 6934

So Ali typed 6934 into the machine. Now we want to know the output after

pressing the second sequence of buttons.

6934 → Blue Red Yellow Blue→????

We can go through the second button sequence to determine the new output.

6934 → Blue→ 9634 → Red→ 3694 → Yellow→ 3496 → Blue→ 4396

Therefore, the output would have been 4396.
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